July 2017 through June 2022

### **APPENDIX E: SCHOOL SYSTEM INFRASTRUCTURE NEEDS BY COUNTY**

Table E-1	Tennessee Public School Systems as of July 2017	223
Table E-2	Infrastructure Needs at Public Elementary and Secondary Schools	225
Table E-3	Infrastructure Needs at Existing Public Schools	229
Table E-4	Infrastructure Needs at Public Elementary and Secondary Schools	233
Table E-5	Overall Condition of Schools by School System as of July 2017	238
Table E-6	Overall School Ratings and Costs to Upgrade Components to Excellent or Good Condition	240
Table E-7	Existing School Classroom Counts by School System	245
Table E-8	Technology Needs at Existing Public Schools	250
Table E-9	Mandate Compliance Needs	254

Table E-1. Tennessee Public School Systems as of July 2017Alphabetical by County

Stenol SystemSchool StoolKountCountySchool SystemmAudersen County6.560RountyDeKalbDeKalbmAudersen County88.431DeKalbDeKalbDeKalbmOak Rige84.31DeKalbDeKalbDeKalbmOak Rige82.120DeKalbDeKalbDeKalbBelfond County82.120DeKalbDeKalbDeKalbBelfond County148.431DerDyerDyer CountyBelfond County148.431DyerDyer CountyAlonBelfond County2010.523DifferDyer CountyAlonDown County2010.523DifferDyer CountyAlonCounty2010.523DifferDifferDifferMaryvilleChendry2010.523DifferDifferDifferAlonCounty2010.523DifferDifferDifferMaryvilleChendry2010.523DifferDifferDifferAlonCounty21DifferDifferDifferDifferAlonCounty21DifferDifferDifferDifferAlonCounty21DifferDifferDifferDifferAlonCounty21DifferDifferDifferDifferAlonCounty12DifferDifferDifferDifferAlonCount								
1Anderson County18 $6.360$ Def albDef albCounty1C (inton3898DicksonDicksonDicksonDickson1C (inton3898DicksonDicksonDicksonDicksonDickson1Beditori County82.120FigetteFigetteCounty1Beditori County148.439DyerDyes founty1Beditori County2010.253FinersisFinankii County1Cunty2010.253GibsonCunty1Cunty2010.253GibsonCunty1Cunty2010.253GibsonCunty1Cunto2010.253GibsonCunty1Cunto2010.253GibsonCunty1Cunto2010.253GibsonMarkini SSD1Cunto2010.253GibsonHandkin County1Cunto233GibsonCunty1Cunto21904GibsonCuntyCunty1Cunto210.253GibsonCuntyCunty1Cunto210.253GibsonCuntyCunty1Cunto210.253GibsonCuntyCunty1Cunto210.253GibsonCuntyCunty1Cunto2210.253GibsonCunty1 <th>County</th> <th>School System</th> <th>School</th> <th>Student Count</th> <th>County</th> <th>School System</th> <th>School</th> <th>Student</th>	County	School System	School	Student Count	County	School System	School	Student
1     Clinton     3     88     Dickson       1     Oak Ridge     8     4,391     Dyer       Bedford County     14     8,484     Dyer       Bedford County     8     2,120     Fayette       Benton County     8     2,120     Fayette       Benton County     8     2,120     Fayette       Benton County     7     5,153     Gibson       Alcoa     4     1,093     Franklin       Blout County     20     10,538     Gibson       Cleveland     9     5,489     Gibson       Cleveland     17     9,778     Gibson       Cleveland     17     9,778     Gibson       Cleveland     17     9,743     Gibson       Cleveland     17     9,778     Gibson       Maryville     17     9,778     Gibson       Maryville     17     9,743     Gibson       Cleveland     17     9,743     Gibson       Cleveland     17     9,743     Gibson       Markeris     17     9,743     Gibson       Markeris     11     9,743     Gibson       Markeris     South County     1     3,244       Huntingdon SDD     South	Anderson	Anderson County		6,360	DeKalb	DeKalb County	9	2,849
1     Oak Ridge     8     4,391     Dyer       1     Bedford Country     14     8,484     Dyer       1     Bedford Country     8     2,120     Fayette       1     Buldsoc Country     8     2,120     Fayette       1     Blount Country     5     1,603     Fayette       1     Blount Country     20     10,58     Gibson       1     Carnon Country     20     10,58     Gibson       1     Cannon Country     20     10,58     Gibson       1     Cannon Country     7     5,133     Gibson       1     Carnon Country     7     5,433     Gibson       1     Cannon Country     7     1,904     Gibson       1     Cannon Country     7     5,433     Gibson       1     Cannon Country     7     1,904     Gibson       1     Cannon Country     17     9,778     Gibson       1     Cannon Country     17     9,78     Gibson       1     Cannon Country     17     1,904     Gibson       1     Cannon Country     1     5,43     Gibson       1     Cannon Country     1     1,210     Gibson       1	Anderson	Clinton	3	898	Dickson	Dickson County	17	8,239
Bedford County         14         8,484         Dyer           Benton County         8         2,120         Fayette           Blownt County         5         1,603         Fayette           Blownt County         2         1,918         Fanklin           Altea         Maryville         7         5,153         Gibson           Blownt County         20         10,528         Gibson         Gibson           Maryville         7         5,153         Gibson         Gibson           Campol County         7         5,153         Gibson         Gibson           Maryville         7         1,903         Fanklin         Gibson           Camon County         14         5,443         Gibson         Gibson           Maryville         7         1,904         Gibson         Gibson           Carroll County         14         5,443         Gibson         Gibson           McKenzie SSD         14         1,904         Gibson         Gibson           McKenzie SSD         3         1,276         Gibson         Gibson           Newtort         Karroll SSD         3         1,276         Hankin           McKenzie SSD	Anderson	Oak Ridge	8	4,391	Dyer	Dyer County	8	3,769
Benton County     8     2,120     Fayette       Bledsoe County     5     1,693     Fayette       Blount County     5     1,693     Fanklin       Blount County     20     10,528     Gibson       Blount County     7     5,153     Gibson       Blount County     7     5,143     Gibson       Branon County     7     5,443     Gibson       Carnol County     7     1,904     Gibson       Carnol County     7     1,904     Gibson       Huntingdon SSD     14     5,443     Gibson       Mcenzic SSD     1     9,778     Gibson       Mcenzic SSD     3     1,276     Graniger       Mcenzic SSD     3     1,276     Graniger       Mcenzic SSD     3     1,276     Grandy       Newtort     1     338     Hantlon       Mcenzic SSD     3     1,276     Hantlon       Mcenzic SSD     3     1,276     Hantlon       Mcenter     1     338     Hantlon       Mcenter     1     338     Hantlon       Mcenter     1     3     4,191       Harter     1     1     5,252       Huntingdon SSD     1     1,205	Bedford	Bedford County	14	8,484	Dyer	Dyersburg	4	2,621
Bledsoe County     5     1,693     Fentress       Alcoa     Alcoa     4     1,918     Franklin       Blount County     20     10,528     Gibson       Blount County     7     5,153     Gibson       Bradley County     7     5,153     Gibson       Bradley County     7     9,778     Gibson       Bradley County     7     9,778     Gibson       Cleveland     9     5,449     Gibson       Carol County     1     9     5,443     Gibson       Claveland     9     5,449     Gibson       Mekenzie SSD     1     9,778     Gibson       Mekenzie SSD     3     1,210     Granger       Mekenzie SSD     3     1,210     Granger       Mekenzie SSD     3     1,210     Granger       West Caroll SSD     3     3     1,210       Vest Caroll SSD     3     3     3       Vest Caroll SSD     3     3     4,191       Mekenzie SSD     3     4,191     Hardim       Neverort     1     5     5,252     Hardeman       Never Caroll SSD     1     4,191     Hardim       Never Caroll SSD     1     4,412     Hardim <td>Benton</td> <td>Benton County</td> <td>8</td> <td>2,120</td> <td>Fayette</td> <td>Fayette County</td> <td>L</td> <td>3,249</td>	Benton	Benton County	8	2,120	Fayette	Fayette County	L	3,249
Alcoa     Alcoa     4     1,918     Franklin       Blount County     20     10,528     Gibson       Bradley County     7     5,153     Gibson       Bradley County     7     5,433     Gibson       Creveland     9     5,443     Gibson       Clampbell County     14     5,443     Gibson       Clampbell County     14     5,443     Gibson       Huntingdon SSD     14     5,443     Gibson       Maryville     7     1,904     Gibson       Marybell County     14     5,443     Gibson       Huntingdon SSD     3     1,210     Granger       Mekenzic SSD     3     1,210     Granger       Nest Carrol ISSD     3     1,276     Hanblen       West Carrol ISSD     3     1,210     Greene       Vest Carrol SSD     3     2,31     Hanblen       West Carrol SSD     3     3,276     Hanblen       West Carrol SSD     3     4,191     Hanblen       Nest Carrol SSD     3     4,191     Hanblen       Nest Carrol SSD     3     4,422     Hanblen       Nest Carrol SSD     3     4,423     Hanblen       Nest Carrol SSD     13     4,191     <	Bledsoe	Bledsoe County	5	1,693	Fentress	Fentress County	9	2,072
Blount County     20     10,528     Gibson       Maryville     7     5,153     Gibson       Bradley County     7     5,153     Gibson       Bradley County     17     9,778     Gibson       Cleveland     9     5,489     Gibson       Cleveland     9     5,489     Gibson       Cleveland     9     5,443     Gibson       Cleveland     9     5,443     Gibson       Caroll County     14     5,443     Gibson       Caroll County     14     5,443     Gibson       Mathingdon SSD     4     1,210     Graniger       Muttingdon SSD     3     1,276     Ginudy       Muttingdon SSD     3     1,276     Ginudy       Metkenzic SSD     3     1,276     Hamblen       Metkenzic SSD     3     1,276     Hamblen       Muttingdon SSD     1     338     Hamblen       Nest Carnoll SSD     3     6,231     Hamblen       Nest Carnoll SSD     3     5,252     Handeman       N     Chester County     13     6,231     Hardeman       N     Chester County     13     4,191     Hardeman       N     Chester County     13     4,191 <td>Blount</td> <td>Alcoa</td> <td>4</td> <td>1,918</td> <td>Franklin</td> <td>Franklin County</td> <td>11</td> <td>5,287</td>	Blount	Alcoa	4	1,918	Franklin	Franklin County	11	5,287
Maryville     7     5,153     Gibson       Bradley County     17     9,778     Gibson       Bradley County     14     5,443     Gibson       Cleveland     9     5,489     Gibson       Cleveland     9     5,443     Gibson       Caroll County     14     5,443     Gibson       Caroll County     2     6,33     Gibson       Mollow Rock-Bruceton SSD     4     1,210     Grainger       Huttingdon SSD     3     1,276     Gindy       McKenzic SSD     3     1,276     Grandy       Nest Carroll SSD     4     1,210     Greene       McKenzic SSD     3     1,276     Hamblen       Nest Carroll SSD     3     1,276     Hamblen       Nest Carroll SSD     3     805     Hamblen       Nest Carroll SSD     3     6,231     Hardeman       n     Cheathan County     13     4,191     Hardeman       n     Cheathan County     13     4,191     Hardeman	Blount	Blount County	20	10,528	Gibson	Bradford SSD	2	520
Bradley County17 $9,778$ Gibson1Campo County9 $5,489$ GibsonCleveland9 $5,489$ GibsonCarroll County7 $1,904$ GibsonCarroll County2 $33$ GreeneHuntingdon SSD4 $1,210$ GreeneMcKenzie SSD3 $1,276$ GreeneMcKenzie SSD3 $1,276$ GreeneNest Carroll SSD3 $1,276$ GreeneNeet Carroll SSD3 $1,276$ HamblenNeet Carroll SSD3 $1,276$ HamblenNeet Carroll SSD3 $1,276$ HamblenNeet Carroll SSD3 $1,276$ HamblenNeet Carroll SSD3 $4,191$ HamblenNeet Carroll SSD3 $4,191$ HamblenNeet Carroll SSD3 $4,191$ HardemanNeet County13 $6,231$ HardemanNewportClayonne County13 $6,231$ NewportClayonne County13 $4,191$ NewportClayonne County13 $4,191$ NewportNewport $6,2,331$ HardemanNewportClayonne County13 $4,191$ NewportClayonne County13 $4,191$ Newport <td>Blount</td> <td>Maryville</td> <td>7</td> <td>5,153</td> <td>Gibson</td> <td>Gibson County SSD</td> <td>6</td> <td>3,932</td>	Blount	Maryville	7	5,153	Gibson	Gibson County SSD	6	3,932
ICleveland95,489Gibson1Campel County145,443GibsonCarnol County71,904GibsonCarnol County23GranigerHollow Rock-Bruceton SSD2633GranigerHuttingdon SSD41,210GranigerMcKenzic SSD31,276GrundyNext Carroll SSD31,276GrundyNet Carroll SSD34,191HandionNet Carroll SSD136,231HandionNet Carroll SSD136,231HandionNet Carroll SSD134,191HardemanNet County136,231HardemanNet County136,231HardemanNet County136,231HardemanNet County134,191HardemanNet County136,231HardemanNet County136,231HardemanNet County134,191HardemanNet County134,191HardemanNet County134,191HardemanNet County134,191HardemanNet County	Bradley	Bradley County	17	9,778	Gibson	Humboldt	3	1,088
1     Campbell County     14     5,443     Gibson       1     Canron County     7     1,904     Gites       1     Carroll County     2     3     Gipson       1     Carroll County     2     633     Gipson       1     McKenzic SSD     3     1,210     Greene       1     McKenzic SSD     3     1,276     Grundy       1     West Carroll SSD     3     1,276     Grundy       1     West Carroll SSD     3     1,276     Grundy       1     West Carroll SSD     3     895     Hamblen       1     Cheathan County     15     5,252     Hancock       1     Cheathan County     13     6,231     Hardeman       1     Cheater County     13     6,231     Hardeman       1     Cheater County     13     4,191     Hardeman       1     Cheater County     13     4,191     Hardeman	Bradley	Cleveland	6	5,489	Gibson	Milan SSD	3	1,953
Cannon County71,904GilesCarroll County23GraingerHollow Rock-Bruceton SSD2633GreeneHuntingdon SSD41,210GreeneMcKenzie SSD31,276GrundyNest Carroll SSD31,276GrundySouth Carroll SSD31,276GrundyWest Carroll SSD31,276HamblenWest Carroll SSD3895HamiltonWest Carroll SSD3895HamiltonCarter County155,252HancocknChester County136,231HardemannChester County136,231HardemannChester County136,231HardemannChester County136,231HardemannChester County136,231HardemannCocke County124,412HardersonNewport62,850HardersonNewport62,343HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester33,438HenryManchester33,438HenryManchester31,914,329Hardin3,52HenryHenryNewport63,438HenryManchester31,94JohnsonManchester	Campbell	Campbell County	14	5,443	Gibson	Trenton SSD	ŝ	1,258
Carroll County23GraingerHollow Rock-Bruceton SSD2633GreaneHuntingdon SSD41,210GreeneMcKenzie SSD31,276GrundySouth Carroll SSD31,276GrundySouth Carroll SSD3895HamblenWest Carroll SSD3895HamblenWest Carroll SSD3895HamblenCarter County155,252HancockCarter County155,252HardinChester County155,231HardinChester County136,231HardinChester County136,231HardinChester County134,191HarkinsNewport104,329HendersonNewport11665HendersonNewport11665HendersonManchester31,315HendersonManchester13,438HendersonManchester31,315HendersonManchester31,315HendersonManchester33,438HendersonManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,338JohnsonManch	Cannon	Cannon County	7	1,904	Giles	Giles County	8	3,811
Hollow Rock-Bruceton SSD2633GreeneHuntingdon SSD41,210GreeneMcKenzic SSD31,276GrundySouth Carroll SSD3895HamblenWest Carroll SSD3895HamblenWest Carroll SSD3895HamblenWest Carroll SSD3895HamblenWest Carroll SSD5,252HamblenCarter County155,252HanclockCarter County136,231HavkinsChester County136,231HavkinsChester County136,231HavkinsClaiborne County134,191HavkinsNewport104,329HendersonNewport11665HendersonNewport11665HendersonManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryMando23,438	Carroll	Carroll County	2	3	Grainger	Grainger County	8	3,401
Huntingdon SSD41,210GreeneMcKenzie SSD31,276GrundySouth Carroll SSD31,276GrundySouth Carroll SSD31,276GrundyWest Carroll SSD33895HamblenWest Carroll SSD3895HamblenWest Carroll SSD5,252HancockCarter County155,252HancockElizabethton52,464HardinChester County136,231HardineClaiborne County134,191HarkinsClaiborne County134,191HarkinsNewport136,231HardinCocke County124,442HendersonNewport104,329HenryManchester31,315HenryAlamoCoffee County104,329Manchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,315HenryManchester31,316HenryManchester31,328JonsonDecatur County<	Carroll	Hollow Rock-Bruceton SSD	2	633	Greene	Greene County	16	6,561
McKenzie SSD31,276GrundySouth Carroll SSD1338HamblenWest Carroll SSD3895HamblenWest Carroll SSD3895HamblenCarter County155,252HamcockCarter County136,231HardinCheatham County136,231HardinCheatham County136,231HardinChester County136,231HardinChester County134,191HardinCocke County134,191HardinNewport134,191HardinCocke County124,442HendersonNewport104,329HenryManchester31,315HenryAlamo1571HoustonBells1362JacksonandCumberland County1362Davidson County127,138JohnsonDecaur County127,138Johnson	Carroll	Huntingdon SSD	4	1,210	Greene	Greeneville	7	2,739
South Carroll SSD1338HamblenWest Carroll SSDWest Carroll SSD3895HamiltonCarter County155,252HamcockHamiltonElizabethton52,464HardemanElizabethton52,464HardemanCheatham County136,231HardemanCheatham County62,850HawkinsCheatham County136,231HardemanCounty134,191HardinCocke County124,442HendersonNewport104,329HendersonNewport104,329HendersonManchester31,315HenryAlamo23,438HickmanAlamo1571HoustonBells1362JacksonDavidson County127,138JohnsonDecatur County127,138JohnsonDecatur County1482,433Johnson	Carroll	McKenzie SSD	3	1,276	Grundy	Grundy County	7	2,060
West Carroll SSD3895HamiltonCarter County155,252HancockElizabethton52,464HardemanElizabethton52,464HardemanCheatham County136,231HardemanCheatham County62,850HawkinsChester County134,191HardemanConster County134,191HardemanCounty134,191HawkinsCocke County124,442HendersonNewport11665HendersonNewport116,339HenryManchester31,315HenryManchester13,438HickmanAlamo13,438HickmanAlamo13,438HickmanandCumberland County13,438Deckett County13,438JohnsonandCumberland County13,438Deckut County13,438JohnsonDeckut County127,138JohnsonDeckut County148,2,433Johnson	Carroll	South Carroll SSD	1	338	Hamblen	Hamblen County	18	10,171
Carter County155,252HancocknElizabethton52,464HardemanEElizabethton52,464HardemannCheatham County136,231HardincClaiborne County62,850HawkinseClaiborne County134,191HawkinscClay County134,191HawkinsnCocke County124,442HendersonNewport104,329HendersonNewport104,329HenryManchester31,315HenryAlamo1571HoustonBells1362JacksonnDavidson County127,138Johnson1571KnoxnDavidson County41,571Knox182,433Johnson	Carroll	West Carroll SSD	3	895	Hamilton	Hamilton County	72	43,203
Image: Elizabethton5 $2,464$ HardemanmCheatham County13 $6,231$ Hardimcheatham County13 $6,231$ Hardimcheater County6 $2,850$ Hawkinsclaiborne County13 $4,191$ Hawkinsclaiborne County13 $4,191$ Hawkinsclaiborne County12 $4,442$ HendersonNewport11 $665$ HendersonNewport11 $665$ HendersonNewport11 $653$ HendersonManchester10 $4,329$ HenryManchester10 $4,329$ HenryManchester10 $4,329$ HenryManchester10 $4,329$ HenryManchester10 $4,329$ HenryManchester10 $4,329$ HenryManchester10 $4,329$ HenryAlamo1 $571$ HoustonBells1 $362$ JacksonInDavidson County1 $7,138$ Decatur County1 $4$ $1,571$ KnoxDecatur County $4$ $1,571$	Carter	Carter County	15	5,252	Hancock	Hancock County	3	968
n     Cheatham County     13     6,231     Hardin       e     Claiborne County     6     2,850     Hawkins       e     Claiborne County     13     4,191     Hawkins       e     Claiborne County     13     4,191     Hawkins       cocke County     13     4,191     Hawkins       Cocke County     12     4,442     Henderson       Newport     1     665     Henderson       Coffee County     10     4,329     Henry       Manchester     3     1,315     Henry       Alamo     1     571     Houston       Alamo     1     571     Houston       and     Cunberland County     1     571     Houston       and     Cunty     1     362     Houston       Davidson County     12     7,138     Jefferson       n     Davidson County     1     571     Houston	Carter	Elizabethton	5	2,464	Hardeman	Hardeman County	6	3,519
chester County     6     2,850     Hawkins       claiborne County     13     4,191     Hawkins       Clay County     13     4,191     Hawkins       Cocke County     12     4,442     Henderson       Newport     12     4,442     Henderson       Newport     11     665     Henderson       Newport     11     4,329     Henry       Manchester     3     1,315     Henry       Alamo     1     571     Houston       Bells     1     362     Humphreys       and     Cumberland County     1     362       Davidson County     12     7,138     Jefferson       n     Davidson County     14     1.571	Cheatham	Cheatham County	13	6,231	Hardin	Hardin County	7	3,433
e     Claiborne County     13     4,191     Hawkins       Clay County     4     1,029     Haywood       Cocke County     12     4,442     Henderson       Newport     11     665     Henderson       Newport     11     665     Henderson       Newport     11     665     Henderson       Newport     11     665     Henderson       Nanchester     11     653     Henderson       Alamo     3     1,315     Henry       Alamo     1     3,438     Hickman       Alamo     1     3,438     Hickman       Bells     1     362     Henry       and     Cunckett County     1     362     Jackson       and     Cumberland County     12     7,138     Jefferson       Decatur County     14     1,571     Knox	Chester	Chester County	9	2,850	Hawkins	Hawkins County	18	6,646
Clay County41,029HaywoodCocke County124,442HendersonNewport1655HendersonNewport1655HendersonNewport104,329HenryManchester31,315HenryTullahoma73,438HickmanAlamo1571HoustonBells1362JacksonCrockett County127,138JeffersonandCumberland County127,138JohnsonDavidson County1482,433Johnson	Claiborne	Claiborne County	13	4,191	Hawkins	Rogersville	1	657
Cocke County124,442HendersonNewport1655HendersonNewport1655HendersonCoffee County104,329HenryManchester31,315HenryTullahoma73,438HickmanAlamo1571HoustonBells1362HumphreysandCrockett County127,138Davidson County127,138JohnsonDecatur County1482,433Johnson	Clay	Clay County	4	1,029	Haywood	Haywood County	5	2,811
Newport1665HendersonCoffee County104,329HendersonManchester31,315HenryTullahoma73,438HickmanAlamo1571HoustonBells1362HumphreysCrockett County51,984JacksonnDavidson County127,138JeffersonnDavidson County1482,433Johnson	Cocke	Cocke County	12	4,442	Henderson	Henderson County	6	3,868
Coffee County104,329HenryManchester31,315HenryTullahoma73,438HickmanAlamo1571HoustonAlamo1571HoustonBells1362HumphreysCrockett County51,984JacksonandCumberland County127,138JeffersonDavidson County1482,433JohnsonDecatur County41.571Knox	Cocke	Newport	1	665	Henderson	Lexington	2	817
Manchester31,315HenryTullahoma73,438HickmanAlamo73,438HickmanAlamo1571HoustonBells1362HumphreysCrockett County51,984JacksonandCumberland County127,138JeffersonnDavidson County1482,433JohnsonnDecatur County41,571Knox	Coffee	Coffee County	10	4,329	Henry	Henry County	9	2,945
Tullahoma73,438HickmanAlamo1571HoustonBells1562HumphreysCrockett County51,984JacksonandCumberland County127,138JeffersonnDavidson County14882,433JohnsonDecatur County41.571Knox	Coffee	Manchester	3	1,315	Henry	Paris SSD	3	1,615
Alamo1571HoustonBells1362HumphreysBells1362HumphreysCrockett County51,984JacksonandCumberland County127,138JeffersonnDavidson County1482,433JohnsonDecatur County41.571Knox	Coffee	Tullahoma	7	3,438	Hickman	Hickman County	8	3,292
Bells1362HumphreysCrockett County51,984JacksonandCumberland County127,138JeffersonnDavidson County14882,433JohnsonDecatur County41.571Knox	Crockett	Alamo	1	571	Houston	Houston County	5	1,312
t Crockett County 5 1,984 Jackson land Cumberland County 12 7,138 Jefferson in Davidson County 148 82,433 Johnson Decatur County 4 1.571 Knox	Crockett	Bells	1	362	Humphreys	Humphreys County	7	2,833
land Cumberland County 12 7,138 Jefferson in Davidson County 148 82,433 Johnson Decatur County 4 1.571 Knox	Crockett	Crockett County	5	1,984	Jackson	Jackson County	4	1,437
in Davidson County 148 82,433 Johnson Decatur County 4 1.571 Knox	Cumberland	Cumberland County	12	7,138	Jefferson	Jefferson County	13	7,089
Decatur County 4 1.571 Knox	Davidson	Davidson County	148	82,433	Johnson	Johnson County	7	1,956
	Decatur	Decatur County	4	1,571	Knox	Knox County	87	58,189

Table E-1. Tennessee Public School Systems (continued)as of July 2017 Alphabetical by County

		•	•				
County	School System	School Count	Student Count	County	School System	School Count	Student Count
Lake	Lake County	3	771	Rutherford	Rutherford County	48	43,789
Lauderdale	Lauderdale County	7	4,070	Scott	Oneida SSD	3	1,238
Lawrence	Lawrence County	13	6,712	Scott	Scott County	7	2,767
Lewis	Lewis County	4	1,660	Sequatchie	Sequatchie County	3	2,203
Lincoln	Fayetteville	3	1,378	Sevier	Sevier County	30	14,310
Lincoln	Lincoln County	8	3,760	Shelby	Arlington	4	5,087
Loudon	Lenoir City	3	2,205	Shelby	Bartlett	11	8,691
Loudon	Loudon County	9	4,624	Shelby	Collierville	8	8,290
McMinn	Athens	5	1,551	Shelby	Germantown	5	5,877
McMinn	Etowah	1	352	Shelby	Lakeland	2	944
McMinn	McMinn County	6	5,506	Shelby	Millington	4	2,544
McNairy	McNairy County	6	4,140	Shelby	Shelby County	182	114,495
Macon	Macon County	8	3,818	Smith	Smith County	6	2,986
Madison	Madison County	22	12,404	Stewart	Stewart County	9	1,977
Marion	Marion County	10	3,992	Sullivan	Bristol	8	3,956
Marion	Richard City SSD	1	251	Sullivan	Kingsport	12	7,333
Marshall	Marshall County	10	5,365	Sullivan	Sullivan County	22	9,650
Maury	Maury County	20	12,247	Sumner	Sumner County	48	28,924
Meigs	Meigs County	4	1,661	Tipton	Tipton County	14	10,751
Monroe	Monroe County	12	5,344	Trousdale	Hartsville-Trousdale	3	1,260
Monroe	Sweetwater	4	1,517	Unicoi	Unicoi County	L	2,287
Montgomery	Montgomery County	39	32,960	Union	Union County	10	3,627
Moore	Moore County	2	829	Van Buren	Van Buren County	2	707
Morgan	Morgan County	8	2,966	Warren	Warren County	11	6,445
Obion	Obion County	7	3,299	Washington	Johnson City	11	7,723
Obion	Union City	3	1,608	Washington	Washington County	15	8,447
Overton	Overton County	9	3,004	Wayne	Wayne County	8	2,160
Perry	Perry County	4	1,039	Weakley	Weakley County	11	4,147
Pickett	Pickett County	2	691	White	White County	6	3,828
Polk	Polk County	9	2,270	Williamson	Franklin SSD	8	3,538
Putnam	Putnam County	20	10,872	Williamson	Williamson County	44	37,661
Rhea	Dayton	1	827	Wilson	Lebanon SSD	9	3,537
Rhea	Rhea County	7	4,214	Wilson	Wilson County	21	17,693
Roane	Roane County	17	6,472		Statewide Counts	1,732	963,294
Robertson	Robertson County	20	11,085				
Rutherford	Murfreesboro	12	8,015				
Note: SSD is the abbre Tennessee General As:	Note: SSD is the abbreviation for Special School District. Special Sch Tennessee General Assembly. They do not have sales taxing authority.	pecial School I g authority.	Districts do not	necessarily coincide with cit	Note: SSD is the abbreviation for Special School District. Special School Districts do not necessarily coincide with city or county boundaries and have separate property tax rates set by the Tennessee General Assembly. They do not have sales taxing authority.	e property tax rat	es set by the

		2017 through June 2022		Cost Per
County	School System	Total Est. Cost	Student Count	Student
Anderson	Anderson County	\$ 14,533,188	6,360	\$2,285
Anderson	Clinton	425,000	898	\$473
Anderson	Oak Ridge	21,208,133	4,391	\$4,830
Bedford	Bedford County	48,567,192	8,484	\$5,724
Benton	Benton County	8,505,288	2,120	\$4,013
Bledsoe	Bledsoe County	6,195,000	1,693	\$3,660
Blount	Blount County	28,639,163	10,528	\$2,720
Blount	Alcoa	12,510,999	1,918	\$6,522
Blount	Maryville	10,653,800	5,153	\$2,068
Bradley	Bradley County	47,332,500	9,778	\$4,841
Bradley	Cleveland	19,701,000	5,489	\$3,589
Campbell	Campbell County	2,175,000	5,443	\$400
Cannon	Cannon County	110,031	1,904	\$58
Carroll	Carroll County	270,000	3	\$82,574
Carroll	Hollow Rock-Bruceton SSD	0	633	\$0
Carroll	Huntingdon SSD	0	1,210	\$0
Carroll	McKenzie SSD	1,740,000	1,276	\$1,363
Carroll	South Carroll SSD	50,000	338	\$148
Carroll	West Carroll SSD	107,316	895	\$120
Carter	Carter County	16,502,135	5,252	\$3,142
Carter	Elizabethton	10,606,384	2,464	\$4,305
Cheatham	Cheatham County	2,271,000	6,231	\$364
Chester	Chester County	5,024,750	2,850	\$1,763
Claiborne	Claiborne County	18,765,740	4,191	\$4,477
Clay	Clay County	865,000	1,029	\$841
Cocke	Cocke County	20,565,807	4,442	\$4,630
Cocke	Newport	365,000	665	\$549
Coffee	Coffee County	26,650,000	4,329	\$6,156
Coffee	Manchester	0	1,315	\$0
Coffee	Tullahoma	1,500,000	3,438	\$436
Crockett	Crockett County	9,380,000	1,984	\$4,729
Crockett	Alamo	8,910,000	571	\$15,615
Crockett	Bells	115,000	362	\$317
Cumberland	Cumberland County	21,245,000	7,138	\$2,977
Davidson	Davidson County	3,384,096,200		\$41,053
Decatur	Decatur County	2,082,700		\$1,326
DeKalb	DeKalb County	46,489,000		\$16,320
Dickson	Dickson County	49,683,285		\$6,030
Dyer	Dyer County	2,866,000		\$760
Dyer	Dyersburg	5,520,000	· · · ·	\$2,106

# Table E-2. Infrastructure Needs at Public Elementary and Secondary Schools Total Estimated Cost and Cost Per Student by School System Five-vear Period July 2017 through June 2022

County	School System	Total Est. Cost	Student Count	Cost Per Student
Fayette	Fayette County	\$ 3,960,000	3,249	\$1,219
Fentress	Fentress County	1,265,000	2,072	\$611
Franklin	Franklin County	5,668,500	5,287	\$1,072
Gibson	Humboldt	460,000	1,088	\$423
Gibson	Milan SSD	3,861,442	1,953	\$1,977
Gibson	Trenton SSD	0	1,258	\$0
Gibson	Bradford SSD	200,000	520	\$384
Gibson	Gibson County SSD	17,800,000	3,932	\$4,527
Giles	Giles County	36,627,250	3,811	\$9,611
Grainger	Grainger County	410,000	3,401	\$121
Greene	Greene County	2,648,000	6,561	\$404
Greene	Greeneville	12,370,714	2,739	\$4,516
Grundy	Grundy County	8,935,000	2,060	\$4,338
Hamblen	Hamblen County	34,852,000	10,171	\$3,427
Hamilton	Hamilton County	124,008,000	43,203	\$2,870
Hancock	Hancock County	1,653,671	968	\$1,709
Hardeman	Hardeman County	5,456,000	3,519	\$1,551
Hardin	Hardin County	2,746,006	3,433	\$800
Hawkins	Hawkins County	11,432,585	6,646	\$1,720
Hawkins	Rogersville	100,000	657	\$152
Haywood	Haywood County	8,102,700	2,811	\$2,883
Henderson	Henderson County	2,796,995	3,868	\$723
Henderson	Lexington	698,000	817	\$854
Henry	Henry County	5,441,654	2,945	\$1,848
Henry	Paris SSD	3,800,000	1,615	\$2,354
Hickman	Hickman County	1,621,000	3,292	\$492
Houston	Houston County	722,000	1,312	\$550
Humphreys	Humphreys County	11,925,000	2,833	\$4,210
Jackson	Jackson County	400,000	1,437	\$278
Jefferson	Jefferson County	56,803,242	7,089	\$8,013
Johnson	Johnson County	2,635,000	1,956	\$1,347
Knox	Knox County	99,618,008	58,189	\$1,712
Lake	Lake County	10,810,000	771	\$14,012
Lauderdale	Lauderdale County	36,877,500	4,070	\$9,061
Lawrence	Lawrence County	6,901,849	6,712	\$1,028
Lewis	Lewis County	0	1,660	\$0
Lincoln	Lincoln County	10,000	3,760	\$3
Lincoln	Fayetteville	2,203,000	1,378	\$1,598
Loudon	Loudon County	1,456,600	4,624	\$315
Loudon	Lenoir City	4,080,000		\$1,851

# Table E-2. Infrastructure Needs at Public Elementary and Secondary Schools (continued) Total Estimated Cost and Cost Per Student by School System Five-year Period July 2017 through June 2022

County	School System	Total Est. Cost	Student Count	Cost Per Student
McMinn	McMinn County	\$ 8,618,340	5,506	\$1,565
McMinn	Athens	16,507,000	1,551	\$10,641
McMinn	Etowah	1,285,000	352	\$3,651
McNairy	McNairy County	26,618,900	4,140	\$6,430
Macon	Macon County	30,092,000	3,818	\$7,881
Madison	Madison County	32,572,400	12,404	\$2,626
Marion	Marion County	43,905,813	3,992	\$10,999
Marion	Richard City SSD	0	251	\$0
Marshall	Marshall County	770,782	5,365	\$144
Maury	Maury County	146,885,134	12,247	\$11,993
Meigs	Meigs County	1,831,000	1,661	\$1,103
Monroe	Monroe County	66,725,853	5,344	\$12,486
Monroe	Sweetwater	4,235,000	1,517	\$2,792
Montgomery	Montgomery County	212,976,350	32,960	\$6,462
Moore	Moore County	22,200,000	829	\$26,766
Morgan	Morgan County	2,270,500	2,966	\$765
Obion	Obion County	175,000	3,299	\$53
Obion	Union City	7,902,208	1,608	\$4,915
Overton	Overton County	6,812,000	3,004	\$2,268
Perry	Perry County	235,000	1,039	\$226
Pickett	Pickett County	1,020,000	691	\$1,476
Polk	Polk County	110,000	2,270	\$48
Putnam	Putnam County	21,045,000		\$1,936
Rhea	Rhea County	484,000	4,214	\$115
Rhea	Dayton	0	827	\$0
Roane	Roane County	58,467,099	6,472	\$9,033
Robertson	Robertson County	128,408,000	11,085	\$11,584
Rutherford	Rutherford County	466,171,186		\$10,646
Rutherford	Murfreesboro	32,850,000		\$4,098
Scott	Scott County	5,860,000		\$2,118
Scott	Oneida SSD	75,000	1,238	\$61
Sequatchie	Sequatchie County	2,268,000	2,203	\$1,029
Sevier	Sevier County	101,067,128		\$7,063
Shelby	Shelby County	523,850,383		\$4,575
Shelby	Arlington	1,664,000		\$327
Shelby	Bartlett	81,078,200		\$9,329
Shelby	Collierville	109,256,750		\$13,180
Shelby	Germantown	18,590,000		\$3,163
Shelby	Lakeland	84,000		\$89
Shelby	Millington	53,349,000		\$20,969

# Table E-2. Infrastructure Needs at Public Elementary and Secondary Schools (continued) Total Estimated Cost and Cost Per Student by School System Five-year Period July 2017 through June 2022

County	School System	Total Est. Cost	Student Count	Cost Per Student
Smith	Smith County	\$ 8,149,200	2,986	\$2,729
Stewart	Stewart County	2,210,000	1,977	\$1,118
Sullivan	Sullivan County	154,648,900	9,650	\$16,027
Sullivan	Bristol	97,915,549	3,956	\$24,751
Sullivan	Kingsport	33,850,000	7,333	\$4,616
Sumner	Sumner County	85,581,950	28,924	\$2,959
Tipton	Tipton County	5,234,425	10,751	\$487
Trousdale	Hartsville-Trousdale	3,281,632	1,260	\$2,604
Unicoi	Unicoi County	1,335,000	2,287	\$584
Union	Union County	2,058,662	3,627	\$568
Van Buren	Van Buren County	650,000	707	\$919
Warren	Warren County	10,753,100	6,445	\$1,668
Washington	Washington County	66,942,500	8,447	\$7,925
Washington	Johnson City	38,016,000	7,723	\$4,922
Wayne	Wayne County	3,130,717	2,160	\$1,449
Weakley	Weakley County	4,571,356	4,147	\$1,102
White	White County	8,210,000	3,828	\$2,145
Williamson	Williamson County	523,197,000	37,661	\$13,892
Williamson	Franklin SSD	27,174,943	3,538	\$7,680
Wilson	Wilson County	833,728,500	17,693	\$47,123
Wilson	Lebanon SSD	25,000,000	3,537	\$7,068
Grand Total		\$ 8,561,538,787	963,294	\$8,888

# Table E-2. Infrastructure Needs at Public Elementary and Secondary Schools (continued) Total Estimated Cost and Cost Per Student by School System Five-year Period July 2017 through June 2022

Includes cost estimates for new schools.



County	School System	Total Est. Cost	Student	Cost Per
•	-		Count	Student
Anderson	Anderson County	\$ 3,533,188	6,360	\$556
Anderson	Clinton	425,000	898	\$473
Anderson	Oak Ridge	10,208,133	4,391	\$2,325
Bedford	Bedford County	6,970,000	8,484	\$822
Benton	Benton County	4,055,288	2,120	\$1,913
Bledsoe	Bledsoe County	6,195,000	1,693	\$3,660
Blount	Blount County	3,639,163	10,528	\$346
Blount	Alcoa	210,000	1,918	\$109
Blount	Maryville	2,653,800	5,153	\$515
Bradley	Bradley County	9,873,000	9,778	\$1,010
Bradley	Cleveland	4,010,000	5,489	\$731
Campbell	Campbell County	2,175,000	5,443	\$400
Cannon	Cannon County	110,031	1,904	\$58
Carroll	Carroll County	270,000	3	\$82,574
Carroll	Hollow Rock-Bruceton SSD	0	633	\$0
Carroll	Huntingdon SSD	0	1,210	\$0
Carroll	McKenzie SSD	1,740,000	1,276	\$1,363
Carroll	South Carroll SSD	50,000	338	\$148
Carroll	West Carroll SSD	107,316	895	\$120
Carter	Carter County	16,442,135	5,252	\$3,131
Carter	Elizabethton	3,906,384	2,464	\$1,586
Cheatham	Cheatham County	2,271,000	6,231	\$364
Chester	Chester County	3,224,750	2,850	\$1,132
Claiborne	Claiborne County	5,965,740	4,191	\$1,423
Clay	Clay County	515,000	1,029	\$501
Cocke	Cocke County	9,299,807	4,442	\$2,094
Cocke	Newport	365,000	665	\$549
Coffee	Coffee County	15,650,000	4,329	\$3,615
Coffee	Manchester	0	1,315	\$0
Coffee	Tullahoma	1,000,000	3,438	\$291
Crockett	Crockett County	280,000	1,984	\$141
Crockett	Alamo	660,000	571	\$1,157
Crockett	Bells	65,000	362	\$179
Cumberland	Cumberland County	18,345,000	7,138	\$2,570
Davidson	Davidson County	2,924,330,200	82,433	\$35,475
Decatur	Decatur County	2,082,700	1,571	\$1,326
DeKalb	DeKalb County	629,000	2,849	\$221
Dickson	Dickson County	12,542,665	8,239	\$1,522
Dyer	Dyer County	2,566,000	3,769	\$681
Dyer	Dyersburg	5,440,000	2,621	\$2,076

Table E-3. Infrastructure Needs at Existing Public SchoolsTotal Estimated Cost and Cost Per Student by School SystenFive-year Period July 2017 through June 2022

County	Five-year Period July 201 School System	Total Est. Cost	Student	Cost Per
-			Count	Student
Fayette	Fayette County	\$ 3,960,000	3,249	\$1,219
Fentress	Fentress County	1,265,000	2,072	\$611
Franklin	Franklin County	5,668,500	5,287	\$1,072
Gibson	Humboldt	460,000	1,088	\$423
Gibson	Milan SSD	3,861,442	1,953	\$1,977
Gibson	Trenton SSD	0	1,258	\$0
Gibson	Bradford SSD	0	520	\$0
Gibson	Gibson County SSD	800,000	3,932	\$203
Giles	Giles County	4,627,250	3,811	\$1,214
Grainger	Grainger County	410,000	3,401	\$121
Greene	Greene County	2,048,000	6,561	\$312
Greene	Greeneville	12,370,714	2,739	\$4,516
Grundy	Grundy County	8,935,000	2,060	\$4,338
Hamblen	Hamblen County	34,852,000	10,171	\$3,427
Hamilton	Hamilton County	29,008,000	43,203	\$671
Hancock	Hancock County	953,671	968	\$986
Hardeman	Hardeman County	5,456,000	3,519	\$1,551
Hardin	Hardin County	2,746,006	3,433	\$800
Hawkins	Hawkins County	8,932,585	6,646	\$1,344
Hawkins	Rogersville	100,000	657	\$152
Haywood	Haywood County	5,912,700	2,811	\$2,104
Henderson	Henderson County	2,746,995	3,868	\$710
Henderson	Lexington	698,000	817	\$854
Henry	Henry County	541,654	2,945	\$184
Henry	Paris SSD	1,000,000	1,615	\$619
Hickman	Hickman County	1,621,000	3,292	\$492
Houston	Houston County	722,000	1,312	\$550
Humphreys	Humphreys County	9,925,000	2,833	\$3,504
Jackson	Jackson County	0	1,437	\$0
Jefferson	Jefferson County	29,303,242	7,089	\$4,134
Johnson	Johnson County	2,635,000	1,956	\$1,347
Knox	Knox County	25,833,008	58,189	\$444
Lake	Lake County	10,810,000	771	\$14,012
Lauderdale	Lauderdale County	36,877,500	4,070	\$9,061
Lawrence	Lawrence County	1,901,849	6,712	\$283
Lewis	Lewis County	0	1,660	\$0
Lincoln	Lincoln County	10,000	3,760	\$3
Lincoln	Fayetteville	2,203,000	1,378	\$1,598
Loudon	Loudon County	956,600	4,624	\$207
Loudon	Lenoir City	3,480,000	2,205	\$1,578

# Table E-3. Infrastructure Needs at Existing Public Schools (continued)Total Estimated Cost and Cost Per Student by School SystemFive-year Period July 2017 through June 2022

County	Five-year Period July 20 School System	Total Est. Cost	Student	Cost Per
-			Count	Student
McMinn	McMinn County	\$ 8,618,340	5,506	\$1,565
McMinn	Athens	7,727,000	1,551	\$4,981
McMinn	Etowah	1,285,000	352	\$3,651
McNairy	McNairy County	3,703,900	4,140	\$895
Macon	Macon County	662,000	3,818	\$173
Madison	Madison County	30,547,400	12,404	\$2,463
Marion	Marion County	12,478,353	3,992	\$3,126
Marion	Richard City SSD	0	251	\$0
Marshall	Marshall County	770,782	5,365	\$144
Maury	Maury County	34,011,634	12,247	\$2,777
Meigs	Meigs County	456,000	1,661	\$275
Monroe	Monroe County	28,625,853	5,344	\$5,357
Monroe	Sweetwater	4,235,000	1,517	\$2,792
Montgomery	Montgomery County	61,676,350	32,960	\$1,871
Moore	Moore County	16,200,000	829	\$19,532
Morgan	Morgan County	2,270,500	2,966	\$765
Obion	Obion County	75,000	3,299	\$23
Obion	Union City	2,711,208	1,608	\$1,686
Overton	Overton County	6,702,000	3,004	\$2,231
Perry	Perry County	235,000	1,039	\$226
Pickett	Pickett County	320,000	691	\$463
Polk	Polk County	110,000	2,270	\$48
Putnam	Putnam County	10,965,000	10,872	\$1,009
Rhea	Rhea County	484,000	4,214	\$115
Rhea	Dayton	0	827	\$0
Roane	Roane County	8,467,099	6,472	\$1,308
Robertson	Robertson County	80,408,000	11,085	\$7,254
Rutherford	Rutherford County	33,971,186	43,789	\$776
Rutherford	Murfreesboro	5,350,000	8,015	\$667
Scott	Scott County	1,060,000	2,767	\$383
Scott	Oneida SSD	75,000	1,238	\$61
Sequatchie	Sequatchie County	885,000	2,203	\$402
Sevier	Sevier County	18,942,885	14,310	\$1,324
Shelby	Shelby County	517,061,499	114,495	\$4,516
Shelby	Arlington	1,664,000	5,087	\$327
Shelby	Bartlett	79,078,200	8,691	\$9,099
Shelby	Collierville	14,256,750	8,290	\$1,720
Shelby	Germantown	18,350,000	5,877	\$3,122
Shelby	Lakeland	84,000	944	\$89
Shelby	Millington	8,690,000	2,544	\$3,416

# Table E-3. Infrastructure Needs at Existing Public Schools (continued)Total Estimated Cost and Cost Per Student by School SystemFive-year Period July 2017 through June 2022

County	School System	Total Est. Cost	Student Count	Cost Per Student
Smith	Smith County	\$ 2,713,200	2,986	\$909
Stewart	Stewart County	2,210,000	1,977	\$1,118
Sullivan	Sullivan County	68,648,900	9,650	\$7,114
Sullivan	Bristol	60,415,549	3,956	\$15,272
Sullivan	Kingsport	11,670,000	7,333	\$1,592
Sumner	Sumner County	30,581,950	28,924	\$1,057
Tipton	Tipton County	3,534,425	10,751	\$329
Trousdale	Hartsville-Trousdale	3,281,632	1,260	\$2,604
Unicoi	Unicoi County	1,335,000	2,287	\$584
Union	Union County	1,883,662	3,627	\$519
Van Buren	Van Buren County	520,000	707	\$735
Warren	Warren County	5,449,100	6,445	\$845
Washington	Washington County	14,467,000	8,447	\$1,713
Washington	Johnson City	2,442,000	7,723	\$316
Wayne	Wayne County	1,499,000	2,160	\$694
Weakley	Weakley County	1,471,356	4,147	\$355
White	White County	8,210,000	3,828	\$2,145
Williamson	Williamson County	116,277,000	37,661	\$3,087
Williamson	Franklin SSD	22,644,943	3,538	\$6,400
Wilson	Wilson County	165,578,500	17,693	\$9,359
Wilson	Lebanon SSD	3,300,000	3,537	\$933
Grand Total		\$ 4,896,784,172	963,294	\$5,083

## Table E-3. Infrastructure Needs at Existing Public Schools (continued)Total Estimated Cost and Cost Per Student by School SystemFive-year Period July 2017 through June 2022

			Five-vear Period July 2017 through June 2022	ulv 2017 through	ol System 1. June 2022			
County	School System	Student Count	New Schools	Additions	Renovations	Other Needs	System-wide	Total Estimated Cost
Anderson	Anderson County	6,360 \$	10,000,000 \$	1,000,000 \$	1,756,000	\$ 1,777,188	\$ 0 \$	14,533,188
Anderson	Clinton	898	0	0	400,000	25,000	0	425,000
Anderson	Oak Ridge	4,391	10,000,000	0	5,563,133	4,645,000	1,000,000	21,208,133
Bedford	Bedford County	8,484	36,850,000	4,747,192	6,970,000	0	0	48,567,192
Benton	Benton County	2,120	200,000	4,250,000	2,728,088	1,327,200	0	8,505,288
Bledsoe	Bledsoe County	1,693	0	0	5,810,000	385,000	0	6,195,000
Blount	Blount County	10,528	0	25,000,000	3,065,000	574,163	0	28,639,163
Blount	Alcoa	1,918	0	12,300,999	0	210,000	0	12,510,999
Blount	Maryville	5,153	0	8,000,000	2,165,000	488,800	0	10,653,800
Bradley	Bradley County	9,778	19,200,000	2,259,500	9,869,000	4,000	16,000,000	47,332,500
Bradley	Cleveland	5,489	15,691,000	0	3,050,000	960,000	0	19,701,000
Campbell	Campbell County	5,443	0	0	595,000	1,580,000	0	2,175,000
Cannon	Cannon County	1,904	0	0	0	110,031	0	110,031
Carroll	Carroll County	3	0	0	210,000	60,000	0	270,000
Carroll	Hollow Rock-Bruceton SSD	633	0	0	0	0	0	0
Carroll	Huntingdon SSD	1,210	0	0	0	0	0	0
Carroll	McKenzie SSD	1,276	0	0	1,740,000	0	0	1,740,000
Carroll	South Carroll SSD	338	0	0	50,000	0	0	50,000
Carroll	West Carroll SSD	895	0	0	107,316	0	0	107,316
Carter	Carter County	5,252	0	60,000	15,882,921	559,214	0	16,502,135
Carter	Elizabethton	2,464	0	6,700,000	3,791,131	115,253	0	10,606,384
Cheatham	Cheatham County	6,231	0	0	2,271,000	0	0	2,271,000
Chester	Chester County	2,850	0	1,800,000	3,094,750	130,000	0	5,024,750
Claiborne	Claiborne County	4,191	11,800,000	1,000,000	5,034,000	931,740	0	18,765,740
Clay	Clay County	1,029	0	350,000	465,000	50,000	0	865,000
Cocke	Cocke County	4,442	0	11,266,000	8,316,000	983,807	0	20,565,807
Cocke	Newport	665	0	0	300,000	65,000	0	365,000
Coffee	Coffee County	4,329	0	11,000,000	15,650,000	0	0	26,650,000

Table E-4. Infrastructure Needs at Public Elementary and Secondary Schools Total Estimated Cost by School System

			Five-year Period July 2017 through June 2022	July 2017 throug	h June 2022			
County	School System	Student Count	New Schools	Additions	Renovations	Other Needs	System-wide	Total Estimated Cost
Coffee	Manchester	1,315	\$ 0	\$ 0	\$ 0	0	\$ 0	\$ 0
Coffee	Tullahoma	3,438	0	500,000	1,000,000	0	0	1,500,000
Crockett	Crockett County	1,984	0	9,100,000	280,000	0	0	9,380,000
Crockett	Alamo	571	0	8,250,000	600,000	60,000	0	8,910,000
Crockett	Bells	362	0	50,000	0	65,000	0	115,000
Cumberland	Cumberland County	7,138	0	2,900,000	14,005,000	4,340,000	0	21,245,000
Davidson	Davidson County	82,433	368,800,000	90,966,000	2,920,419,000	3,911,200	0	3,384,096,200
Decatur	Decatur County	1,571	0	0	2,082,700	0	0	2,082,700
DeKalb	DeKalb County	2,849	42,000,000	3,660,000	325,000	304,000	200,000	46,489,000
Dickson	Dickson County	8,239	32,600,000	4,540,620	12,542,665	0	0	49,683,285
Dyer	Dyer County	3,769	0	300,000	2,566,000	0	0	2,866,000
Dyer	Dyersburg	2,621	0	80,000	4,350,000	1,090,000	0	5,520,000
Fayette	Fayette County	3,249	0	0	3,750,000	210,000	0	3,960,000
Fentress	Fentress County	2,072	0	0	515,000	750,000	0	1,265,000
Franklin	Franklin County	5,287	0	0	4,705,000	963,500	0	5,668,500
Gibson	Humboldt	1,088	0	0	300,000	160,000	0	460,000
Gibson	Milan SSD	1,953	0	0	3,861,442	0	0	3,861,442
Gibson	Trenton SSD	1,258	0	0	0	0	0	0
Gibson	Bradford SSD	520	0	200,000	0	0	0	200,000
Gibson	Gibson County SSD	3,932	17,000,000	0	800,000	0	0	17,800,000
Giles	Giles County	3,811	32,000,000	0	4,567,250	60,000	0	36,627,250
Grainger	Grainger County	3,401	0	0	370,000	40,000	0	410,000
Greene	Greene County	6,561	0	600,000	1,489,000	559,000	0	2,648,000
Greene	Greeneville	2,739	0	0	11,595,000	775,714	0	12,370,714
Grundy	Grundy County	2,060	0	0	8,405,000	530,000	0	8,935,000
Hamblen	Hamblen County	10,171	0	0	34,780,000	72,000	0	34,852,000
Hamilton	Hamilton County	43,203	50,000,000	45,000,000	29,008,000	0	0	124,008,000
Hancock	Hancock County	968	0	700,000	945,271	8,400	0	1,653,671
Hardeman	Hardeman County	3,519	0	0	5,456,000	0	0	5,456,000
Hardin	Hardin County	3,433	0	0	2,000,000	746,006	0	2,746,006
Hawkins	Hawkins County	6,646	0	2,500,000	7,120,418	1,812,167	0	11,432,585
Hawkins	Rogersville	657	0	0	0	100,000	0	100,000

			Total Estimat	Total Estimated Cost by School System	ool System h. June 2022			
County	School System	Student Count	New Schools	Additions	Renovations	Other Needs	System-wide	Total Estimated Cost
Haywood	Haywood County	2,811	\$	\$ 2,190,000	\$ 5,777,000	\$ 135,700	\$ 0	\$ 8,102,700
Henderson	Henderson County	3,868	0	50,000	2,745,000	1,995	0	2,796,995
Henderson	Lexington	817	0	0	500,000	198,000	0	698,000
Henry	Henry County	2,945	0	2,500,000	245,000	296,654	2,400,000	5,441,654
Henry	Paris SSD	1,615	0	2,800,000	1,000,000	0	0	3,800,000
Hickman	Hickman County	3,292	0	0	1,537,000	84,000	0	1,621,000
Houston	Houston County	1,312	0	0	722,000	0	0	722,000
Humphreys	Humphreys County	2,833	0	2,000,000	9,925,000	0	0	11,925,000
Jackson	Jackson County	1,437	0	400,000	0	0	0	400,000
Jefferson	Jefferson County	7,089	20,000,000	7,500,000	28,639,000	664,242	0	56,803,242
Johnson	Johnson County	1,956	0	0	2,635,000	0	0	2,635,000
Knox	Knox County	58,189	58,295,000	15,490,000	21,714,204	4,118,804	0	99,618,008
Lake	Lake County	771	0	0	10,660,000	150,000	0	10,810,000
Lauderdale	Lauderdale County	4,070	0	0	35,430,000	1,447,500	0	36,877,500
Lawrence	Lawrence County	6,712	0	5,000,000	1,751,849	150,000	0	6,901,849
Lewis	Lewis County	1,660	0	0	0	0	0	0
Lincoln	Lincoln County	3,760	0	0	0	10,000	0	10,000
Lincoln	Fayetteville	1,378	0	0	2,100,000	103,000	0	2,203,000
Loudon	Loudon County	4,624	0	500,000	0	956,600	0	1,456,600
Loudon	Lenoir City	2,205	0	600,000	3,480,000	0	0	4,080,000
McMinn	McMinn County	5,506	0	0	8,518,340	100,000	0	8,618,340
McMinn	Athens	1,551	0	8,780,000	6,260,000	1,467,000	0	16,507,000
McMinn	Etowah	352	0	0	1,000,000	285,000	0	1,285,000
McNairy	McNairy County	4,140	0	22,915,000	477,500	3,226,400	0	26,618,900
Macon	Macon County	3,818	24,000,000	4,930,000	602,000	60,000	500,000	30,092,000
Madison	Madison County	12,404	0	2,025,000	15,465,000	15,082,400	0	32,572,400
Marion	Marion County	3,992	30,000,000	1,427,460	12,078,353	400,000	0	43,905,813
Marion	Richard City SSD	251	0	0	0	0	0	0
Marshall	Marshall County	5,365	0	0	770,782	0	0	770,782
Maury	Maury County	12,247	110,000,000	2,873,500	33,816,634	195,000	0	146,885,134
Meigs	Meigs County	1,661	0	1,225,000	456,000	0	150,000	1,831,000
Monroe	Monroe County	5,344	30,000,000	8,100,000	23,540,853	5,085,000	0	66,725,853

			Five-year Period	Five-year Period July 2017 through June 2022	h June 2022			
County	School System	Student Count	New Schools	Additions	Renovations	Other Needs	System-wide	Total Estimated Cost
Monroe	Sweetwater	1,517	\$	\$	\$ 4,065,000	\$ 170,000	\$ 0	\$ 4,235,000
Montgomery	Montgomery County	32,960	103,000,000	48,300,000	55,503,000	6,173,350	0	212,976,350
Moore	Moore County	829	0	6,000,000	15,900,000	300,000	0	22,200,000
Morgan	Morgan County	2,966	0	0	1,338,000	932,500	0	2,270,500
Obion	Obion County	3,299	0	100,000	75,000	0	0	175,000
Obion	Union City	1,608	0	4,999,000	2,656,208	55,000	192,000	7,902,208
Overton	Overton County	3,004	0	0	6,338,000	364,000	110,000	6,812,000
Perry	Perry County	1,039	0	0	235,000	0	0	235,000
Pickett	Pickett County	691	0	600,000	150,000	170,000	100,000	1,020,000
Polk	Polk County	2,270	0	0	110,000	0	0	110,000
Putnam	Putnam County	10,872	0	9,830,000	10,475,000	490,000	250,000	21,045,000
Rhea	Rhea County	4,214	0	0	350,000	134,000	0	484,000
Rhea	Dayton	827	0	0	0	0	0	0
Roane	Roane County	6,472	50,000,000	0	7,400,000	1,067,099	0	58,467,099
Robertson	Robertson County	11,085	35,000,000	13,000,000	71,281,000	9,127,000	0	128,408,000
Rutherford	Rutherford County	43,789	401,100,000	31,100,000	33,775,000	196,186	0	466,171,186
Rutherford	Murfreesboro	8,015	25,000,000	0	5,350,000	0	2,500,000	32,850,000
Scott	Scott County	2,767	0	4,800,000	1,025,000	35,000	0	5,860,000
Scott	Oneida SSD	1,238	0	0	75,000	0	0	75,000
Sequatchie	Sequatchie County	2,203	0	783,000	450,000	435,000	600,000	2,268,000
Sevier	Sevier County	14,310	43,250,000	38,874,243	18,792,885	150,000	0	101,067,128
Shelby	Shelby County	114,495	0	6,788,884	420,167,525	96,893,974	0	523,850,383
Shelby	Arlington	5,087	0	0	914,000	750,000	0	1,664,000
Shelby	Bartlett	8,691	0	2,000,000	77,068,200	2,010,000	0	81,078,200
Shelby	Collierville	8,290	95,000,000	0	13,045,000	1,211,750	0	109, 256, 750
Shelby	Germantown	5,877	0	240,000	14,800,000	3,550,000	0	18,590,000
Shelby	Lakeland	944	0	0	0	84,000	0	84,000
Shelby	Millington	2,544	6,659,000	38,000,000	6,170,000	2,520,000	0	53,349,000
Smith	Smith County	2,986	0	5,436,000	1,538,200	1,175,000	0	8,149,200
Stewart	Stewart County	1,977	0	0	2,210,000	0	0	2,210,000
Sullivan	Sullivan County	9,650	85,000,000	1,000,000	61,527,900	7,121,000	0	154,648,900
Sullivan	Bristol	3,956	35,500,000	2,000,000	57,763,049	2,652,500	0	97,915,549

Table E-4. Infrastructure Needs at Public Elementary and Secondary Schools (continued)Total Estimated Cost by School System

Five-year Period July 2017 through June 2022

		-	<i>.</i>	<i>,</i> )=				
County	School System	Student Count	New Schools	Additions	Renovations	Other Needs	System-wide	Total Estimated Cost
Sullivan	Kingsport	7,333 \$	0	21,180,000	\$ 8,612,000	\$ 3,058,000 \$	s 1,000,000 \$	33,850,000
Sumner	Sumner County	28,924	55,000,000	0	30,362,950	219,000	0	85,581,950
Tipton	Tipton County	10,751	0	1,700,000	2,111,000	1,423,425	0	5,234,425
Trousdale	Hartsville-Trousdale	1,260	0	0	3,281,632	0	0	3,281,632
Unicoi	Unicoi County	2,287	0	0	1,335,000	0	0	1,335,000
Union	Union County	3,627	0	175,000	1,628,300	255,362	0	2,058,662
Van Buren	Van Buren County	707	0	130,000	520,000	0	0	650,000
Warren	Warren County	6,445	0	5,304,000	4,719,100	730,000	0	10,753,100
Washington	Washington County	8,447	52,000,000	175,500	14,467,000	0	300,000	66,942,500
Washington	Johnson City	7,723	20,000,000	15,400,000	2,442,000	0	174,000	38,016,000
Wayne	Wayne County	2,160	0	850,000	1,325,000	174,000	781,717	3,130,717
Weakley	Weakley County	4,147	0	3,100,000	701,356	770,000	0	4,571,356
White	White County	3,828	0	0	8,110,000	100,000	0	8,210,000
Williamson	Williamson County	37,661	390,000,000	16,920,000	112,854,000	3,423,000	0	523, 197, 000
Williamson	Franklin SSD	3,538	0	3,000,000	22,644,943	0	1,530,000	27,174,943
Wilson	Wilson County	17,693	646,000,000	0	163,453,500	2,125,000	22,150,000	833,728,500
Wilson	Lebanon SSD	3,537	21,200,000	500,000	3,150,000	150,000	0	25,000,000
Grand Total		963,294 \$	2,982,145,000 \$	632,671,898 \$	\$ 4,680,833,348 \$	\$ 215,950,824 \$	\$ 49,937,717 \$	8,561,538,787
				1				

#### Appendix E: School System Infrastructure Needs by County

Table E-5. Overall Condition of Schools by School System as of July 2017

	Lably E-3.						the fine to an image of the to the the to th				
County	School System	Excellent	Good	Fair	Poor	County	School System	Excellent	Good	Fair	Poor
Anderson	Anderson County	12	9			Fayette	Fayette County	1	4	2	
Anderson	Clinton		2	1		Fentress	Fentress County	4	2		
Anderson	Oak Ridge	2	5		1	Franklin	Franklin County	ю	8		
Bedford	Bedford County	6	4	1		Gibson	Humboldt	1	7		
Benton	Benton County	3	4	1		Gibson	Milan SSD	1	1	1	
Bledsoe	Bledsoe County		2	3		Gibson	Trenton SSD	1	2		
Blount	Blount County	12	8			Gibson	Bradford SSD		2		
Blount	Alcoa	2	7			Gibson	Gibson County SSD	ю	9		
Blount	Maryville	ю	4			Giles	Giles County	2	9		
Bradley	Bradley County	4	10	3		Grainger	Grainger County	1	7		
Bradley	Cleveland	3	9			Greene	Greene County	2	14		
Campbell	Campbell County	8	9			Greene	Greeneville	1	5	1	
Cannon	Cannon County	5	7			Grundy	Grundy County	1	4	1	1
Carroll	Carroll County		1	1		Hamblen	Hamblen County	11	7		
Carroll	Hollow Rock-Bruceton SSD	2				Hamilton	Hamilton County	27	38	6	1
Carroll	Huntingdon SSD	1	3			Hancock	Hancock County	3			
Carroll	McKenzie SSD		ю			Hardeman	Hardeman County		6		
Carroll	South Carroll SSD		1			Hardin	Hardin County	4	3		
Carroll	West Carroll SSD	1	2			Hawkins	Hawkins County	9	12		
Carter	Carter County	2	12	1		Hawkins	Rogersville	1			
Carter	Elizabethton		5			Haywood	Haywood County		5		
Cheatham	Cheatham County	7	9			Henderson	Henderson County	2	7		
Chester	Chester County	2	4			Henderson	Lexington	1	1		
Claiborne	Claiborne County	9	9		1	Henry	Henry County	9			
Clay	Clay County	1	3			Henry	Paris SSD	1	2		
Cocke	Cocke County	3	6			Hickman	Hickman County	4	4		
Cocke	Newport		-			Houston	Houston County	1	4		
Coffee	Coffee County	9	б	1		Humphreys	Humphreys County	ю	4		
Coffee	Manchester	2	-			Jackson	Jackson County	2	2		
Coffee	Tullahoma	3	4			Jefferson	Jefferson County	2	11		
Crockett	Crockett County	5				Johnson	Johnson County	ю	4		
Crockett	Alamo		1			Knox	Knox County	10	76	1	
Crockett	Bells	1				Lake	Lake County	1		7	
Cumberland	Cumberland County	3	6			Lauderdale	Lauderdale County		4	б	
Davidson	Davidson County	10	76	50	12	Lawrence	Lawrence County	4	9		
Decatur	Decatur County	2	2			Lewis	Lewis County	4			
DeKalb	DeKalb County	1	4	1		Lincoln	Lincoln County	4	4		
Dickson	Dickson County	4	12	1		Lincoln	Fayetteville		З		
Dyer	Dyer County	4 (	4 -			Loudon	Loudon County	2 1	7		
Dyer	Dyersourig	0	-		]	FOUC		C			

ly 2017 (continued)
as of July
ol System
oy Schoo
of Schools <b>k</b>
Condition
Overall
Table E-5.

				2				(maning) it of the is of the second			ľ	
County	School System	Excellent	Good	Fair	Poor	County	02	School System	Excellent	Good	Fair	Poor
McMinn	McMinn County	1	7			Shelby	ш	Bartlett	5	ю	ы	
McMinn	Athens		1	4		Shelby	<u> </u>	Collierville	1	9	1	
McMinn	Etowah		1			Shelby	<u> </u>	Germantown		1	4	
McNairy	McNairy County	2	Г			Shelby		Lakeland	1	1		
Macon	Macon County	2	6			Shelby	4	Millington	1	2	1	
Madison	Madison County	11	11			Smith		Smith County	8		1	
Marion	Marion County	5	2	ю		Stewart	<b>v</b> 1	Stewart County	5	1		
Marion	Richard City SSD					Sullivan		Sullivan County	5	14	б	
Marshall	Marshall County	5	4	-		Sullivan		Bristol	1	5	7	
Maury	Maury County	7	10	3		Sullivan	F	Kingsport	10	2		
Meigs	Meigs County	3	1			Sumner		Sumner	22	26		
Monroe	Monroe County	8	1	2	1	Tipton	-	Tipton	3	11		
Monroe	Sweetwater	1	ю			Trousdale		Hartsville-	1	2		
Montgomery	Montgomery County	22	17			Unicoi		Unicoi	2	5		
Moore	Moore County	1		1		Union	l	Union	3	7		
Morgan	Morgan County	3	ŝ	2		Van Buren		Van	2			
Obion	Obion County	Э	4			Warren		Warren	4	7		
Obion	Union City		ю			Washington		Washingto	5	10		
Overton	Overton County	4	5			Washington		Johnson	10	1		
Perry	Perry County	1	З			Wayne		Wayne	2	9		
Pickett	Pickett County	1	1			Weakley		Weakley	4	7		
Polk	Polk County	2	4			White	-	White	9	ю		
Putnam	Putnam County	10	10			Williamson		Williamso	31	13		
Rhea	Rhea County	Э	4			Williamson		Franklin	9	2		
Rhea	Dayton	1				Wilson	~	Wilson	12	9		
Roane	Roane County	12	4	1		Wilson	T	Lebanon	4	2		
Robertson	Robertson County	7	12		1		L	Total	630	917	167	18
Rutherford	Rutherford County	28	20									
Rutherford	Murfreesboro	7	5									
Scott	Scott County	3	4									
Scott	Oneida SSD	ю										
Sequatchie	Sequatchie County	2	1									
Sevier	Sevier County	13	17									
Shelby	Shelby County	43	86	53								
Shelby	Arlington	4										

	By Sc	By School Sy	stem a	ind Overa Five-year	System and Overall School Rating with Cost per Student by School System <i>Five-year Period July 2017 through June 2022</i>	with Co through	st per June 2	Student   022	by School Syster	n		
		Ŭ	Dverall	<b>Overall Fair or Poor Condition</b>	Condition	Ove	all Exc	ellent or G	<b>Overall Excellent or Good Condition</b>		All Schools	
County	School System	School	Scho	Schools with	Estimated	School	Scho	Schools with Therade Needs	Estimated	School	Estimated	Per Student
Anderson	Anderson County	0	0	0.0%	S Opprane Cost	18	4	22.22%	s.	18	\$ 1.756.000	\$276
Anderson	Clinton	1	1	33.33%	400,000	2	0	0.0%		3		\$445
Anderson	Oak Ridge	1	0	12.5%	0	7	7	87.5%	5,563,133	8	5,563,133	\$1,267
Bedford	Bedford County	1	1	7.14%	6,020,000	13	7	50.0%	950,000	14	6,970,000	\$822
Benton	Benton County	1	0	12.5%	0	7	9	75.0%	2,728,088	8	2,728,088	\$1,287
Bledsoe	Bledsoe County	б	3	60.0%	5,310,000	2	1	20.0%	500,000	5	5,810,000	\$3,432
Blount	Blount County	0	0	0.0%	0	20	11	55.0%	3,065,000	20	3,065,000	\$291
Blount	Alcoa	0	0	0.0%	0	4	0	0.0%	0	4	0	\$0
Blount	Maryville	0	0	0.0%	0	7	2	28.57%	2,165,000	7	2,165,000	\$420
Bradley	Bradley County	З	3	17.65%	2,732,000	14	9	35.29%	7,137,000	17	9,869,000	\$1,009
Bradley	Cleveland	0	0	0.0%	0	9	9	66.67%	3,050,000	6	3,050,000	\$556
Campbell	Campbell County	0	0	0.0%	0	14	З	21.43%	595,000	14	595,000	\$109
Cannon	Cannon County	0	0	0.0%	0	7	0	0.0%	0	7	0	\$0
Carroll	Carroll County	1	1	50.0%	210,000	1	0	0.0%	0	2	210,000	\$64,224
Carroll	Hollow Rock-Bruceton SSD	0	0	0.0%	0	2	0	0.0%	0	2	0	\$0
Carroll	Huntingdon SSD	0	0	0.0%	0	4	0	0.0%	0	4	0	\$0
Carroll	McKenzie SSD	0	0	0.0%	0	3	3	100.0%	1,740,000	3	1,740,000	\$1,363
Carroll	South Carroll SSD	0	0	0.0%	0	1	1	100.0%	50,000	1	50,000	\$148
Carroll	West Carroll SSD	0	0	0.0%	0	3	1	33.33%	107,316	3	107,316	\$120
Carter	Carter County	1	1	6.67%	13,252,853	14	7	46.67%	2,630,068	15	15,882,921	\$3,024
Carter	Elizabethton	0	0	0.0%	0	5	5	100.0%	3,791,131	5	3,791,131	\$1,539
Cheatham	Cheatham County	0	0	0.0%	0	13	5	38.46%	2,271,000	13	2,271,000	\$364
Chester	Chester County	0	0	0.0%	0	9	9	100.0%	3,094,750	9	3,094,750	\$1,086
Claiborne	Claiborne County	1	1	7.69%	2,150,000	12	12	92.31%	2,884,000	13	5,034,000	\$1,201
Clay	Clay County	0	0	0.0%	0	4	2	50.0%	465,000	4	465,000	\$452
Cocke	Cocke County	0	0	0.0%	0	12	10	83.33%	8,316,000	12	8,316,000	\$1,872
Cocke	Newport	0	0	0.0%	0	1	1	100.0%	300,000	1	300,000	\$451
Coffee	Coffee County	1	1	10.0%	10,200,000	9	3	30.0%	5,450,000	10	15,650,000	\$3,615

Table E-6. Overall School Ratings and Costs to Upgrade Components to Excellent or Good Condition

	By School		tem ar	id Uverall Five-year	Overall School Kating with Cost per Stuc Five-year Period July 2017 through June 2022	with Co through	st per	Student by 2022	System and Overall School Rating with Cost per Student by School System <i>Five-year Period July 2017 through June 2022</i>			
		Ũ	Overall ]	<b>Overall Fair or Poor Condition</b>	Condition	Ove	rall Exc	cellent or Go	Overall Excellent or Good Condition		All Schools	
County	School System	School Count	Scho Upgra	Schools with Upgrade Needs	Estimated Upgrade Cost	School Count	Scho Upgra	Schools with Upgrade Needs	Estimated Ungrade Cost	School Count	Estimated Upgrade Cost*	Per Student
Coffee	Manchester	0	0	0.0%	8	ω	0	0.0%	8	3	\$ 0	\$0
Coffee	Tullahoma	0	0	0.0%	0	7	1	14.29%	1,000,000	7	1,000,000	\$291
Crockett	Crockett County	0	0	0.0%	0	5	1	20.0%	280,000	5	280,000	\$141
Crockett	Alamo	0	0	0.0%	0	1	1	100.0%	600,000	1	600,000	\$1,051
Crockett	Bells	0	0	0.0%	0	1	0	0.0%	0	1	0	\$0
Cumberland	Cumberland County	0	0	0.0%	0	12	12	100.0%	14,005,000	12	14,005,000	\$1,962
Davidson	Davidson County	62	52	35.81%	1,354,699,000	86	61	41.22%	1,565,720,000	148	2,920,419,000	\$35,428
Decatur	Decatur County	0	0	0.0%	0	4	4	100.0%	2,082,700	4	2,082,700	\$1,326
DeKalb	DeKalb County	1	1	16.67%	175,000	5	2	33.33%	150,000	9	325,000	\$114
Dickson	Dickson County	1	1	5.88%	60,000	16	9	35.29%	12,482,665	17	12,542,665	\$1,522
Dyer	Dyer County	0	0	0.0%	0	8	2	25.0%	2,566,000	8	2,566,000	\$681
Dyer	Dyersburg	0	0	0.0%	0	4	4	100.0%	4,350,000	4	4,350,000	\$1,660
Fayette	Fayette County	2	2	28.57%	2,300,000	5	4	57.14%	1,450,000	7	3,750,000	\$1,154
Fentress	Fentress County	0	0	0.0%	0	9	9	100.0%	515,000	9	515,000	\$249
Franklin	Franklin County	0	0	0.0%	0	11	7	63.64%	4,705,000	11	4,705,000	\$890
Gibson	Humboldt	0	0	0.0%	0	3	1	33.33%	300,000	3	300,000	\$276
Gibson	Milan SSD	1	1	33.33%	2,640,137	2	2	66.67%	1,221,305	3	3,861,442	\$1,977
Gibson	Trenton SSD	0	0	0.0%	0	Э	0	0.0%	0	3	0	\$0
Gibson	Bradford SSD	0	0	0.0%	0	2	0	0.0%	0	2	0	\$0
Gibson	Gibson County SSD	0	0	0.0%	0	9	1	11.11%	800,000	9	800,000	\$203
Giles	Giles County	0	0	0.0%	0	8	7	87.5%	4,567,250	8	4,567,250	\$1,198
Grainger	Grainger County	0	0	0.0%	0	8	3	37.5%	370,000	8	370,000	\$109
Greene	Greene County	0	0	0.0%	0	16	9	37.5%	1,489,000	16	1,489,000	\$227
Greene	Greeneville	1	1	14.29%	2,400,000	9	6	85.71%	9,195,000	7	11,595,000	\$4,233
Grundy	Grundy County	2	2	28.57%	4,585,000	5	5	71.43%	3,820,000	7	8,405,000	\$4,080
Hamblen	Hamblen County	0	0	0.0%	0	18	8	44.44%	34,780,000	18	34,780,000	\$3,420
Hamilton	Hamilton County	7	7	9.72%	12,798,000	65	28	38.89%	16, 210, 000	72	29,008,000	\$671
Hancock	Hancock County	0	0	0.0%	0	3	Э	100.0%	945,271	3	945,271	\$977

 Table E-6.
 Overall School Ratings and Costs to Upgrade Components to Excellent or Good Condition, (continued)

 Rv School System and Overall School Define with Cost new School System

					tot fan a norte t	Q						
			Verall I	<b>Overall Fair or Poor Condition</b>	r Condition	Õ	rall Exc	ellent or Go	Overall Excellent or Good Condition		All Schools	
County	School System	School Count	Scho	Schools with Ungrade Needs	Estimated Ungrade Cost	School Count	Scho Upgra	Schools with Upgrade Needs	Estimated Ungrade Cost	School Count	Estimated Ungrade Cost*	Per Student
Hardeman	Hardeman County	0	0	0.0%	÷	6	5	55.56%	\$ 5,456,000	6	\$ 5,456,000	\$1,551
Hardin	Hardin County	0	0	0.0%	0	7	7	28.57%	2,000,000	7	2,000,000	\$583
Hawkins	Hawkins County	0	0	0.0%	0	18	17	85.0%	7,120,418	18	7,120,418	\$1,071
Hawkins	Rogersville	0	0	0.0%	0	1	0	0.0%	0	1	0	\$0
Haywood	Haywood County	0	0	0.0%	0	5	5	100.0%	5,777,000	5	5,777,000	\$2,055
Henderson	Henderson County	0	0	0.0%	0	6	9	66.67%	2,745,000	9	2,745,000	\$710
Henderson	Lexington	0	0	0.0%	0	2	1	50.0%	500,000	2	500,000	\$612
Henry	Henry County	0	0	0.0%	0	9	2	33.33%	245,000	9	245,000	\$83
Henry	Paris SSD	0	0	0.0%	0	3	1	33.33%	1,000,000	3	1,000,000	\$619
Hickman	Hickman County	0	0	0.0%	0	8	4	50.0%	1,537,000	8	1,537,000	\$467
Houston	Houston County	0	0	0.0%	0	5	4	80.0%	722,000	5	722,000	\$550
Humphreys	Humphreys County	0	0	0.0%	0	7	9	85.71%	9,925,000	7	9,925,000	\$3,504
Jackson	Jackson County	0	0	0.0%	0	4	0	0.0%	0	4	0	\$0
Jefferson	Jefferson County	0	0	0.0%	0	13	11	84.62%	28,639,000	13	28,639,000	\$4,040
Johnson	Johnson County	0	0	0.0%	0	7	2	28.57%	2,635,000	7	2,635,000	\$1,347
Knox	Knox County	1	1	1.15%	3,024,360	86	34	39.08%	18,689,844	87	21,714,204	\$373
Lake	Lake County	2	2	66.67%	10,660,000	1	0	0.0%	0	3	10,660,000	\$13,818
Lauderdale	Lauderdale County	3	ю	42.86%	35,100,000	4	ю	42.86%	330,000	7	35,430,000	\$8,706
Lawrence	Lawrence County	0	0	0.0%	0	13	9	46.15%	1,751,849	13	1,751,849	\$261
Lewis	Lewis County	0	0	0.0%	0	4	0	0.0%	0	4	0	\$0
Lincoln	Lincoln County	0	0	0.0%	0	8	0	0.0%	0	8	0	\$0
Lincoln	Fayetteville	0	0	0.0%	0	3	1	33.33%	2,100,000	б	2,100,000	\$1,524
Loudon	Loudon County	0	0	0.0%	0	6	0	0.0%	0	9	0	\$0
Loudon	Lenoir City	0	0	0.0%	0	3	3	100.0%	3,480,000	3	3,480,000	\$1,578
McMinn	McMinn County	1	1	11.11%	4,272,000	8	8	88.89%	4,246,340	6	8,518,340	\$1,547
McMinn	Athens	4	4	80.0%	1,860,000	1	1	20.0%	4,400,000	5	6,260,000	\$4,035
McMinn	Etowah	0	0	0.0%	0	1	1	100.0%	1,000,000	1	1,000,000	\$2,841
McNairy	McNairy County	0	0	0.0%	0	9	4	44.44%	477,500	9	477,500	\$115

		0	verall ]	<b>Overall Fair or Poor Condition</b>	Condition	Ove	rall Exce	ellent or Go	<b>Overall Excellent or Good Condition</b>		All Schools	
County	School System	School	Scho	Schools with	Estimated	School	Schoo	Schools with	Estimated	School	Estimated	Par Student
County		Count	Upgra	Upgrade Needs	Upgrade Cost	Count	Upgrad	Upgrade Needs	Upgrade Cost	Count	Upgrade Cost*	
Macon	Macon County	0	0	0.0%	0	8	1	12.5%	\$ 602,000	8	\$ 602,000	\$158
Madison	Madison County	0	0	0.0%	0	22	22	100.0%	15,465,000	22	15,465,000	\$1,247
Marion	Marion County	3	7	20.0%	9,370,000	7	4	40.0%	2,708,353	10	12,078,353	\$3,026
Marion	Richard City SSD	0	0	0.0%	0	1	0	0.0%	0	1	0	\$0
Marshall	Marshall County	1	1	10.0%	116,382	6	3	30.0%	654,400	10	770,782	\$144
Maury	Maury County	Э	2	10.0%	2,106,954	17	14	70.0%	31,709,680	20	33,816,634	\$2,761
Meigs	Meigs County	0	0	0.0%	0	4	7	50.0%	456,000	4	456,000	\$275
Monroe	Monroe County	З	Э	25.0%	18, 305, 853	9	9	50.0%	5,235,000	12	23,540,853	\$4,405
Monroe	Sweetwater	0	0	0.0%	0	4	3	75.0%	4,065,000	4	4,065,000	\$2,680
Montgomery	Montgomery County	0	0	0.0%	0	39	31	79.49%	55,503,000	39	55,503,000	\$1,684
Moore	Moore County	1	1	50.0%	15,800,000	1	-1	50.0%	100,000	2	15,900,000	\$19,170
Morgan	Morgan County	2	2	25.0%	378,000	9	ω	37.5%	960,000	8	1,338,000	\$451
Obion	Obion County	0	0	0.0%	0	7	1	14.29%	75,000	7	75,000	\$23
Obion	Union City	0	0	0.0%	0	ю	3	100.0%	2,656,208	3	2,656,208	\$1,652
Overton	Overton County	0	0	0.0%	0	9	9	66.67%	6,338,000	6	6,338,000	\$2,110
Perry	Perry County	0	0	0.0%	0	4	2	50.0%	235,000	4	235,000	\$226
Pickett	Pickett County	0	0	0.0%	0	2	1	50.0%	150,000	2	150,000	\$217
Polk	Polk County	0	0	0.0%	0	9	1	16.67%	110,000	9	110,000	\$48
Putnam	Putnam County	0	0	0.0%	0	20	12	60.0%	10,475,000	20	10,475,000	\$964
Rhea	Rhea County	0	0	0.0%	0	7	2	28.57%	350,000	7	350,000	\$83
Rhea	Dayton	0	0	0.0%	0	1	0	0.0%	0	1	0	\$0
Roane	Roane County	1	1	5.88%	5,500,000	16	5	29.41%	1,900,000	17	7,400,000	\$1,143
Robertson	Robertson County	1	1	5.0%	17,800,000	19	16	80.0%	53,481,000	20	71,281,000	\$6,430
Rutherford	Rutherford County	0	0	0.0%	0	48	16	33.33%	33,775,000	48	33,775,000	\$771
Rutherford	Murfreesboro	0	0	0.0%	0	12	6	75.0%	5,350,000	12	5,350,000	\$667
Scott	Scott County	0	0	0.0%	0	7	б	42.86%	1,025,000	7	1,025,000	\$370
Scott	Oneida SSD	0	0	0.0%	0	б	1	33.33%	75,000	З	75,000	\$61
Sequatchie	Sequatchie County	0	0	0.0%	0	3	1	33.33%	450,000	3	450,000	\$204

		and the state of t		Five-yean	oystem and Over an ocnool Nating with Cost per offucan by ocnool oystem Five-year Period July 2017 through June 2022	7 through	June 2	022	וושופלט וחטווטט א	_		
			Verall H	<b>Overall Fair or Poor Condition</b>	Condition	Ove	rall Exc	<b>Overall Excellent or Go</b>	Good Condition		All Schools	
County	School System	School	Schoo	Schools with Inorade Needs	Estimated Unorade Cost	School	Schoo	Schools with Ingrade Needs	Estimated Ungrade Cost	School	Estimated Unorade Cost*	Per Student
Sevier	Sevier County	0	0	0.0%	\$ 0 0	30	24	80.0%	\$ 18,792,885	30 \$	18,792,885	\$1,313
Shelby	Shelby County	53	52	28.57%	202,454,022	129	112	61.54%	217,713,503	182	420,167,525	\$3,670
Shelby	Arlington	0	0	0.0%	0	4	3	75.0%	914,000	4	914,000	\$180
Shelby	Bartlett	З	3	27.27%	14,750,000	8	5	45.45%	62,318,200	11	77,068,200	\$8,868
Shelby	Collierville	1		12.5%	5,700,000	L	9	75.0%	7,345,000	8	13,045,000	\$1,574
Shelby	Germantown	4	4	80.0%	14,025,000	1	1	20.0%	775,000	5	14,800,000	\$2,518
Shelby	Lakeland	0	0	0.0%	0	2	0	0.0%	0	2	0	\$0
Shelby	Millington	1	1	25.0%	4,000,000	3	3	75.0%	2,170,000	4	6,170,000	\$2,425
Smith	Smith County	1		11.11%	800,000	∞	ю	33.33%	738,200	6	1,538,200	\$515
Stewart	Stewart County	0	0	0.0%	0	9	4	66.67%	2,210,000	9	2,210,000	\$1,118
Sullivan	Sullivan County	З	7	13.64%	56, 360, 000	19	12	54.55%	5,167,900	22	61,527,900	\$6,376
Sullivan	Bristol	2	0	25.0%	38,300,000	9	4	50.0%	19,463,049	8	57,763,049	\$14,601
Sullivan	Kingsport	0	0	0.0%	0	12	10	76.92%	8,612,000	12	8,612,000	\$1,174
Sumner	Sumner County	0	0	0.0%	0	48	18	37.5%	30, 362, 950	48	30,362,950	\$1,050
Tipton	Tipton County	0	0	0.0%	0	14	5	35.71%	2,111,000	14	2,111,000	\$196
Trousdale	Hartsville-Trousdale	0	0	0.0%	0	3	2	66.67%	3,281,632	3	3,281,632	\$2,604
Unicoi	Unicoi County	0	0	0.0%	0	L	3	42.86%	1,335,000	2	1,335,000	\$584
Union	Union County	0	0	0.0%	0	10	9	60.0%	1,628,300	10	1,628,300	\$449
Van Buren	Van Buren County	0	0	0.0%	0	2	1	50.0%	520,000	2	520,000	\$735
Warren	Warren County	0	0	0.0%	0	11	5	45.45%	4,719,100	11	4,719,100	\$732
Washington	Washington County	0	0	0.0%	0	15	9	40.0%	14,467,000	15	14,467,000	\$1,713
Washington	Johnson City	0	0	0.0%	0	11	3	27.27%	2,442,000	11	2,442,000	\$316
Wayne	Wayne County	0	0	0.0%	0	8	Э	37.5%	1,325,000	8	1,325,000	\$613
Weakley	Weakley County	0	0	0.0%	0	11	5	45.45%	701,356	11	701,356	\$169
White	White County	0	0	0.0%	0	6	5	55.56%	8,110,000	6	8,110,000	\$2,119
Williamson	Williamson County	0	0	0.0%	0	44	21	47.73%	112,854,000	44	112,854,000	\$2,997
Williamson	Franklin SSD	0	0	0.0%	0	8	7	87.5%	22,644,943	8	22,644,943	\$6,400
Wilson	Wilson County	0	0	0.0%	0	21	19	90.48%	163,453,500	21	163,453,500	\$9,239
Wilson	Lebanon SSD	0	0	0.0%	0	9	4	66.67%	3,150,000	9	3,150,000	\$891
Grand Total		185	169	9.97% \$	\$ 1,880,614,561	1,547	886	51.07% \$	\$ 2,800,218,787	1,732 \$	\$ 4,680,833,348	\$4,859
* Does not incl	* Does not include system-wide needs.											

WWW.TN.	GOV/TACIR
---------	-----------

Table E-7. Existing School Classroom Counts by School System	Including Counts of Classrooms in Less Than Good Condition (LTGC)	Five-year Period July 2017 through June 2022
--	---	--

		L	Total	Perman	Permanent Classrooms	smoo	Portal	Portable Classrooms	00ms	Othe	Other Classrooms	smo	Total Class	Total LTGC Classrooms
	Cohool Crotom	School	Classroom			LTGC			LTGC			LTGC	LTGC	
County	School System	Count	Count	Count		Count	Count		Count	Count		Count	Count	
Anderson	Anderson County	18	654	525	80.28%	0	0	0.0%	0	129	19.72%	0	0	0.0%
Anderson	Clinton	Э	93	78	83.87%	37	0	0.0%	0	15	16.13%	0	37	39.78%
Anderson	Oak Ridge	8	435	304	69.89%	7	10	2.3%	4	121	27.82%	14	25	5.75%
Bedford	Bedford County	14	520	410	78.85%	15	18	3.46%	5	92	17.69%	0	20	3.85%
Benton	Benton County	8	219	169	77.17%	0	ω	1.37%	2	47	21.46%	ŝ	5	2.28%
Bledsoe	Bledsoe County	5	153	112	73.2%	35	2	1.31%	2	39	25.49%	14	51	33.33%
Blount	Blount County	20	847	662	78.16%	0	50	5.9%	0	135	15.94%	0	0	0.0%
Blount	Alcoa	4	181	148	81.77%	0	0	0.0%	0	33	18.23%	0	0	0.0%
Blount	Maryville	7	387	271	70.03%	0	5	1.29%	0	111	28.68%	1	1	0.26%
Bradley	Bradley County	17	556	457	82.19%	24	13	2.34%	9	86	15.47%	13	43	7.73%
Bradley	Cleveland	9	385	326	84.68%	5	0	0.0%	0	59	15.32%	0	5	1.3%
Campbell	Campbell County	14	436	341	78.21%	0	3	0.69%	0	92	21.1%	0	0	0.0%
Cannon	Cannon County	7	164	125	76.22%	0	7	4.27%	0	32	19.51%	0	0	0.0%
Carroll	Carroll County	2	35	20	57.14%	10	0	0.0%	0	15	42.86%	4	14	40.0%
Carroll	Hollow Rock-Bruceton SSD	2	67	54	80.6%	0	0	0.0%	0	13	19.4%	0	0	0.0%
Carroll	Huntingdon SSD	4	130	106	81.54%	0	0	0.0%	0	24	18.46%	0	0	0.0%
Carroll	McKenzie SSD	3	123	92	74.8%	0	0	0.0%	0	31	25.2%	0	0	0.0%
Carroll	South Carroll SSD	1	38	22	57.89%	9	1	2.63%	0	15	39.47%	0	9	15.79%
Carroll	West Carroll SSD	Э	102	78	76.47%	0	0	0.0%	0	24	23.53%	0	0	0.0%
Carter	Carter County	15	454	346	76.21%	18	45	9.91%	8	63	13.88%	3	29	6.39%
Carter	Elizabethton	5	162	118	72.84%	0	2	1.23%	2	42	25.93%	9	8	4.94%
Cheatham	Cheatham County	13	517	455	88.01%	0	0	0.0%	0	62	11.99%	0	0	0.0%
Chester	Chester County	9	192	166	86.46%	0	7	1.04%	0	24	12.5%	1	1	0.52%
Claiborne	Claiborne County	13	424	312	73.58%	59	13	3.07%	2	66	23.35%	10	71	16.75%
Clay	Clay County	4	91	74	81.32%	0	2	2.2%	2	15	16.48%	0	2	2.2%
Cocke	Cocke County	12	351	271	77.21%	0	26	7.41%	0	54	15.38%	6	6	2.56%
Cocke	Newport	1	72	62	86.11%	0	0	0.0%	0	10	13.89%	0	0	0.0%
Coffee	Coffee County	10	431	358	83.06%	29	7	1.62%	0	66	15.31%	1	30	6.96%

		-	Total	Perman	Permanent Classrooms	00ms	Portal	Portable Classrooms	ooms	Othe	Other Classrooms	smo	Tota Clas	Total LTGC Classrooms
Country	School System	School	Classroom	Count		LTGC	Count		LTGC	Count		LTGC	LTGC	
county C		Count	Count		00 00	Count		\ <b>0</b> 0 \ 0	Count		1 4 400 /	Count		
Cottee	Manchester	ν.	9/	C0	%50.08	0	0	0.0%	0		14.4/%	0	0	0.0%
Coffee	Tullahoma	7	213	166	77.93%	0	0	0.0%	0	47	22.07%	1		0.47%
Crockett	Crockett County	5	142	113	79.58%	0	0	0.0%	0	29	20.42%	0	0	0.0%
Crockett	Alamo	1	48	42	87.5%	0	0	0.0%	0	9	12.5%	2	2	4.17%
Crockett	Bells	1	37	32	86.49%	0	0	0.0%	0	5	13.51%	0	0	0.0%
Cumberland	Cumberland County	12	515	399	77.48%	0	24	4.66%	24	92	17.86%	1	25	4.85%
Davidson	Davidson County	148	6,644	5,438	81.85%	2,299	263	3.96%	14	943	14.19%	413	2,726	41.03%
Decatur	Decatur County	4	119	104	87.39%	0	2	1.68%	0	13	10.92%	1	1	0.84%
DeKalb	DeKalb County	9	196	163	83.16%	1	7	1.02%	2	31	15.82%	1	4	2.04%
Dickson	Dickson County	17	505	418	82.77%	0	14	2.77%	0	73	14.46%	5	5	0.99%
Dyer	Dyer County	8	335	227	67.76%	0	5	1.49%	0	103	30.75%	0	0	0.0%
Dyer	Dyersburg	4	326	258	79.14%	20	0	0.0%	0	68	20.86%	1	21	6.44%
Fayette	Fayette County	7	300	245	81.67%	24	9	2.0%	9	49	16.33%	21	51	17.0%
Fentress	Fentress County	9	178	152	85.39%	0	1	0.56%	0	25	14.04%	0	0	0.0%
Franklin	Franklin County	11	458	398	86.9%	0	0	0.0%	0	09	13.1%	0	0	0.0%
Gibson	Humboldt	3	112	89	79.46%	0	0	0.0%	0	23	20.54%	1	1	0.89%
Gibson	Milan SSD	3	188	147	78.19%	27	-	0.53%	0	40	21.28%	12	39	20.74%
Gibson	Trenton SSD	ŝ	140	96	68.57%	0	0	0.0%	0	44	31.43%	0	0	0.0%
Gibson	Bradford SSD	2	43	30	69.77%	0	9	13.95%	0	7	16.28%	0	0	0.0%
Gibson	Gibson County SSD	9	311	221	71.06%	2	10	3.22%	0	80	25.72%	0	2	0.64%
Giles	Giles County	8	323	282	87.31%	0	С	0.93%	0	38	11.76%	0	0	0.0%
Grainger	Grainger County	8	315	243	77.14%	0	9	1.9%	0	99	20.95%	0	0	0.0%
Greene	Greene County	16	475	390	82.11%	2	16	3.37%	0	69	14.53%	0	2	0.42%
Greene	Greeneville	7	232	177	76.29%	43	0	0.0%	0	55	23.71%	10	53	22.84%
Grundy	Grundy County	7	179	140	78.21%	34	10	5.59%	3	29	16.2%	10	47	26.26%
Hamblen	Hamblen County	18	571	474	83.01%	0	9	1.05%	0	91	15.94%	1	1	0.18%
Hamilton	Hamilton County	72	2,915	2,426	83.22%	119	66	3.4%	32	390	13.38%	46	197	6.76%
Hancock	Hancock County	3	91	76	83.52%	0	0	0.0%	0	15	16.48%	0	0	0.0%

		L	Total	Perman	Permanent Classrooms	ooms	Portal	Portable Classrooms	ooms	Oth	Other Classrooms	smo	Total Class	Total LTGC Classrooms
		•	č									000		
County	School System	School Count	Classroom Count	Count		LTGC Count	Count		LTGC Count	Count		LTGC Count	Count	
Hardeman	Hardeman County	6	325	280	86.15%	0	∞	2.46%	0	37	11.38%	2	2	0.62%
Hardin	Hardin County	7	314	247	78.66%	0	ŝ	0.96%	0	64	20.38%	0	0	0.0%
Hawkins	Hawkins County	18	557	473	84.92%	0	0	0.0%	0	84	15.08%	2	7	0.36%
Hawkins	Rogersville	1	51	45	88.24%	0	0	0.0%	0	9	11.76%	0	0	0.0%
Haywood	Haywood County	5	249	221	88.76%	0	5	2.01%	0	23	9.24%	1	1	0.4%
Henderson	Henderson County	6	264	206	78.03%	0	5	1.89%	0	53	20.08%	5	5	1.89%
Henderson	Lexington	7	111	94	84.68%	0	0	0.0%	0	17	15.32%	0	0	0.0%
Henry	Henry County	9	264	208	78.79%	0	0	0.0%	0	56	21.21%	0	0	0.0%
Henry	Paris SSD	33	141	112	79.43%	0	0	0.0%	0	29	20.57%	1	1	0.71%
Hickman	Hickman County	8	323	261	80.8%	0	0	0.0%	0	62	19.2%	0	0	0.0%
Houston	Houston County	5	106	88	83.02%	0	0	0.0%	0	18	16.98%	0	0	0.0%
Humphreys	Humphreys County	7	267	233	87.27%	18	0	0.0%	0	34	12.73%	0	18	6.74%
Jackson	Jackson County	4	141	117	82.98%	0	2	1.42%	0	22	15.6%	0	0	0.0%
Jefferson	Jefferson County	13	614	439	71.5%	0	27	4.4%	0	148	24.1%	5	7	0.33%
Johnson	Johnson County	7	162	136	83.95%	0	0	0.0%	0	26	16.05%	1	1	0.62%
Knox	Knox County	87	4,064	3,187	78.42%	20	249	6.13%	0	628	15.45%	3	23	0.57%
Lake	Lake County	33	108	73	67.59%	35	9	5.56%	2	29	26.85%	16	53	49.07%
Lauderdale	Lauderdale County	7	341	300	87.98%	85	4	1.17%	0	37	10.85%	17	102	29.91%
Lawrence	Lawrence County	13	467	388	83.08%	9	17	3.64%	0	62	13.28%	0	9	1.28%
Lewis	Lewis County	4	194	172	88.66%	0	2	1.03%	0	20	10.31%	0	0	0.0%
Lincoln	Lincoln County	8	296	262	88.51%	0	0	0.0%	0	34	11.49%	0	0	0.0%
Lincoln	Fayetteville	ŝ	86	74	86.05%	8	0	0.0%	0	12	13.95%	0	8	9.3%
Loudon	Loudon County	6	399	322	80.7%	0	4	1.0%	0	73	18.3%	0	0	0.0%
Loudon	Lenoir City	3	124	105	84.68%	0	1	0.81%	0	18	14.52%	0	0	0.0%
McMinn	McMinn County	6	374	292	78.07%	133	26	6.95%	0	56	14.97%	5	138	36.9%
McMinn	Athens	5	104	LT L	74.04%	0	0	0.0%	0	27	25.96%	9	9	5.77%
McMinn	Etowah	1	32	28	87.5%	8	0	0.0%	0	4	12.5%	0	8	25.0%
McNairy	McNairy County	6	341	276	80.94%	0	9	1.76%	0	59	17.3%	5	5	1.47%

Table E-7. Existing School Classroom Counts by School System (continued)Including Counts of Classrooms in Less Than Good Condition (LTGC)Five-year Period July 2017 through June 2022
---

			Total	Perman	Permanent Classrooms	ooms	Portab	Portable Classrooms	smoo	Othe	Other Classrooms	sm	Total Class	Total LTGC Classrooms
		School	Classroom			LTGC			LTGC			LTGC	LTGC	
County	School System	Count	Count	Count		Count	Count		Count	Count		Count	Count	
Macon	Macon County	8	259	189	72.97%	0	15	5.79%	0	55	21.24%	0	0	0.0%
Madison	Madison County	22	957	766	80.04%	0	33	3.45%	3	158	16.51%	1	4	0.42%
Marion	Marion County	10	284	244	85.92%	51	1	0.35%	0	39	13.73%	10	61	21.48%
Marion	Richard City SSD	1	26	22	84.62%	0	0	0.0%	0	4	15.38%	0	0	0.0%
Marshall	Marshall County	10	415	337	81.2%	0	17	4.1%	0	61	14.7%	0	0	0.0%
Maury	Maury County	20	940	808	86.06%	53	15	1.6%	0	116	12.34%	4	57	6.06%
Meigs	Meigs County	4	135	109	80.74%	0	6	6.67%	0	17	12.59%	1	1	0.74%
Monroe	Monroe County	12	377	311	82.49%	44	7	1.86%	5	59	15.65%	8	57	15.12%
Monroe	Sweetwater	4	124	104	83.87%	2	2	1.61%	0	18	14.52%	1	ю	2.42%
Montgomery	Montgomery County	39	2,375	1,903	80.13%	45	81	3.41%	4	391	16.46%	6	58	2.44%
Moore	Moore County	2	97	81	83.51%	35	0	0.0%	0	16	16.49%	8	43	44.33%
Morgan	Morgan County	8	284	218	76.76%	41	0	0.0%	0	66	23.24%	1	42	14.79%
Obion	Obion County	7	377	253	67.11%	0	0	0.0%	0	124	32.89%	0	0	0.0%
Obion	Union City	Э	123	95	77.24%	0	0	0.0%	0	28	22.76%	б	б	2.44%
Overton	Overton County	6	211	175	82.94%	0	1	0.47%	0	35	16.59%	1	1	0.47%
Perry	Perry County	4	99	76	76.77%	0	0	0.0%	0	23	23.23%	0	0	0.0%
Pickett	Pickett County	2	72	59	81.94%	0	0	0.0%	0	13	18.06%	0	0	0.0%
Polk	Polk County	9	209	172	82.3%	0	11	5.26%	0	26	12.44%	1	1	0.48%
Putnam	Putnam County	20	838	693	82.7%	8	0	0.0%	0	145	17.3%	Э	11	1.31%
Rhea	Rhea County	7	324	272	83.95%	7	2	0.62%	0	50	15.43%	1	8	2.47%
Rhea	Dayton	1	72	65	90.28%	0	2	2.78%	0	5	6.94%	0	0	0.0%
Roane	Roane County	17	606	476	78.55%	13	1	0.17%	0	129	21.29%	1	14	2.31%
Robertson	Robertson County	20	933	783	83.92%	31	15	1.61%	11	135	14.47%	6	51	5.47%
Rutherford	Rutherford County	48	2,834	2,162	76.29%	0	138	4.87%	14	534	18.84%	5	19	0.67%
Rutherford	Murfreesboro	12	546	471	86.26%	0	З	0.55%	0	72	13.19%	0	0	0.0%
Scott	Scott County	7	208	169	81.25%	0	б	1.44%	0	36	17.31%	4	4	1.92%
Scott	Oneida SSD	3	100	83	83.0%	0	0	0.0%	0	17	17.0%	0	0	0.0%
Sequatchie	Sequatchie County	3	143	126	88.11%	0	0	0.0%	0	17	11.89%	1	1	0.7%

ntinued) GC)	
oy School System <i>(co</i> Good Condition (LTC i <i>June</i> 2022	
E-7. Existing School Classroom Counts by School System (continucluding Counts of Classrooms in Less Than Good Condition (LTGC) Five-year Period July 2017 through June 2022	
Table E-7. Existing School Classroom Counts by School System (continueIncluding Counts of Classrooms in Less Than Good Condition (LTGC)Five-year Period July 2017 through June 2022	

													1	i i
			Total	Perman	Permanent Classrooms	ooms	Portab	Portable Classrooms	oms	Other	Other Classrooms	smo	I otal Class	Lotal LTGC Classrooms
County	School System	School	Classroom	Count		LTGC	Count		LTGC	Count		LTGC	LTGC Count	
Sevier	Sevier County	30	1.017	834	82.01%	0	œ	0.79%	0	175	17.21%		2	0.69%
Shelby	Shelby County	182	8,566	7,240	84.52%	1,968	381	4.48%	27	945	11.03%	243	2,238	26.13%
Shelby	Arlington	4	333	278	83.48%	0	12	3.6%	0	43	12.91%	0	0	0.0%
Shelby	Bartlett	11	727	641	88.17%	107	8	1.1%	2	78	10.73%	11	120	16.51%
Shelby	Collierville	8	595	521	87.56%	107	10	1.68%	2	64	10.76%	26	135	22.69%
Shelby	Germantown	5	364	296	81.32%	244	39	10.71%	27	29	7.97%	24	295	81.04%
Shelby	Lakeland	2	125	111	88.8%	0	2	1.6%	0	12	9.6%	0	0	0.0%
Shelby	Millington	4	236	193	81.78%	25	8	3.39%	8	35	14.83%	Э	36	15.25%
Smith	Smith County	6	276	199	72.1%	28	5	1.81%	5	72	26.09%	2	35	12.68%
Stewart	Stewart County	9	172	138	80.23%	0	0	0.0%	0	34	19.77%	0	0	0.0%
Sullivan	Sullivan County	22	839	709	84.51%	71	15	1.79%	7	115	13.71%	18	96	11.44%
Sullivan	Bristol	8	288	243	84.38%	37	0	0.0%	0	45	15.63%	21	58	20.14%
Sullivan	Kingsport	12	570	398	69.82%	0	9	1.05%	0	166	29.12%	0	0	0.0%
Sumner	Sumner County	48	2,095	1,745	83.29%	16	64	3.05%	0	286	13.65%	11	27	1.29%
Tipton	Tipton County	14	704	605	85.94%	0	2	0.28%	0	76	13.78%	0	0	0.0%
Trousdale	Hartsville-Trousdale	3	129	66	76.74%	0	0	0.0%	0	30	23.26%	0	0	0.0%
Unicoi	Unicoi County	7	212	163	76.89%	0	4	1.89%	0	45	21.23%	1	1	0.47%
Union	Union County	10	236	171	72.46%	0	4	1.69%	0	61	25.85%	1	1	0.42%
Van Buren	Van Buren County	2	64	55	85.94%	0	0	0.0%	0	6	14.06%	0	0	0.0%
Warren	Warren County	11	479	416	86.85%	0	5	1.04%	4	58	12.11%	1	5	1.04%
Washington	Washington County	15	598	504	84.28%	0	22	3.68%	0	72	12.04%	0	0	0.0%
Washington	Johnson City	11	514	404	78.6%	0	0	0.0%	0	110	21.4%	0	0	0.0%
Wayne	Wayne County	8	243	210	86.42%	7	7	0.82%	0	31	12.76%	1	e,	1.23%
Weakley	Weakley County	11	415	331	79.76%	0	0	0.0%	0	84	20.24%	2	2	0.48%
White	White County	6	315	256	81.27%	0	7	2.22%	2	52	16.51%	0	2	0.63%
Williamson	Williamson County	44	2,213	1,854	83.78%	0	34	1.54%	0	325	14.69%	0	0	0.0%
Williamson	Franklin SSD	8	398	334	83.92%	20	0	0.0%	0	64	16.08%	1	21	5.28%
Wilson	Wilson County	21	1,251	1,070	85.53%	0	10	0.8%	0	171	13.67%	0	0	0.0%
Wilson	Lebanon SSD	9	294	267	90.82%	0	3	1.02%	0	24	8.16%	0	0	0.0%
Statewide		1,732	73,261	59,697	81.49%	6,084	2,055	2.81%	237	11,509	15.71%	1,116	7,437	10.15%

	Five-year Ferioa July 2		-	hnology Needs	
County	Sahaal System	Existir	ng Schools	Estimated Cost	Per
	School System		fected		Student
Anderson	Anderson County	13	72.22%		\$279
Anderson	Clinton	1	33.33%	25,000	\$28
Anderson	Oak Ridge	5	55.56%	4,145,000	\$944
Bedford	Bedford County	0	0.0%	0	\$0
Benton	Benton County	8	100.0%	927,200	\$437
Bledsoe	Bledsoe County	3	60.0%	385,000	\$227
Blount	Blount County	17	85.0%	474,163	\$45
Blount	Alcoa	4	100.0%	210,000	\$109
Blount	Maryville	5	71.43%	488,800	\$95
Bradley	Bradley County	1	5.56%	4,000	\$0
Bradley	Cleveland	4	44.44%	240,000	\$44
Campbell	Campbell County	11	78.57%	1,580,000	\$290
Cannon	Cannon County	6	85.71%	110,031	\$58
Carroll	Carroll County	0	0.0%	0	\$0
Carroll	Hollow Rock-Bruceton SSD	0	0.0%	0	\$0
Carroll	Huntingdon SSD	0	0.0%	0	\$0
Carroll	McKenzie SSD	0	0.0%	0	\$0
Carroll	South Carroll SSD	0	0.0%	0	\$0
Carroll	West Carroll SSD	0	0.0%	0	\$0
Carter	Carter County	15	100.0%	359,214	\$68
Carter	Elizabethton	1	20.0%	115,253	\$47
Cheatham	Cheatham County	0	0.0%	0	\$0
Chester	Chester County	2	33.33%	130,000	\$46
Claiborne	Claiborne County	13	100.0%	731,740	\$175
Clay	Clay County	0	0.0%	0	\$0
Cocke	Cocke County	9	75.0%	843,807	\$190
Cocke	Newport	1	100.0%	65,000	\$98
Coffee	Coffee County	0	0.0%	0	\$0
Coffee	Manchester	0	0.0%	0	\$0
Coffee	Tullahoma	0	0.0%	0	\$0
Crockett	Crockett County	0	0.0%	0	\$0
Crockett	Alamo	1	100.0%	60,000	\$105
Crockett	Bells	1	100.0%	65,000	\$179
Cumberland	Cumberland County	10	83.33%	240,000	\$34
Davidson	Davidson County	1	0.68%	4,000	\$0
Decatur	Decatur County	0	0.0%	0	\$0
DeKalb	DeKalb County	2	28.57%	304,000	\$107
Dickson	Dickson County	0	0.0%	0	\$0
Dyer	Dyer County	0	0.0%	0	\$0
Dyer	Dyersburg	4	100.0%	90,000	\$34

Table E-8. Technology Needs at Existing Public SchoolsTotal Estimated Cost and Cost per Student by School SystemFive-year Period July 2017 through June 2022

	July 2017 Inro			hnology Needs	
County	School System		ng Schools	Estimated Cost	Per
			ffected		Student
Fayette	Fayette County	5	71.43%		\$65 ©215
Fentress	Fentress County	6	100.0%	450,000	\$217
Franklin	Franklin County	11	100.0%	963,500	\$182
Gibson	Humboldt	1	33.33%	160,000	\$147
Gibson	Milan SSD	0	0.0%	0	\$0
Gibson	Trenton SSD	0	0.0%	0	\$0
Gibson	Bradford SSD	0	0.0%	0	\$0
Gibson	Gibson County SSD	0	0.0%	0	\$0
Giles	Giles County	1	12.5%	60,000	\$16
Grainger	Grainger County	1	12.5%	40,000	\$12
Greene	Greene County	16	100.0%	559,000	\$85
Greene	Greeneville	7	100.0%	555,714	\$203
Grundy	Grundy County	7	100.0%	530,000	\$257
Hamblen	Hamblen County	2	11.11%	72,000	\$7
Hamilton	Hamilton County	0	0.0%	0	\$0
Hancock	Hancock County	1	33.33%	8,400	\$9
Hardeman	Hardeman County	0	0.0%	0	\$0
Hardin	Hardin County	5	71.43%	746,006	\$217
Hawkins	Hawkins County	2	10.0%	1,310,167	\$197
Hawkins	Rogersville	1	100.0%	100,000	\$152
Haywood	Haywood County	1	20.0%	135,700	\$48
Henderson	Henderson County	1	11.11%	1,995	\$1
Henderson	Lexington	2	100.0%	198,000	\$242
Henry	Henry County	6	85.71%	296,654	\$101
Henry	Paris SSD	0	0.0%	0	\$0
Hickman	Hickman County	6	75.0%	84,000	\$26
Houston	Houston County	0	0.0%	0	\$0
Humphreys	Humphreys County	0	0.0%	0	\$0
Jackson	Jackson County	0	0.0%	0	\$0
Jefferson	Jefferson County	10	76.92%	664,242	\$94
Johnson	Johnson County	0	0.0%	0	\$0
Knox	Knox County	23	26.44%	2,951,329	\$51
Lake	Lake County	1	33.33%	150,000	\$194
Lauderdale	Lauderdale County	0	0.0%	0	\$0
Lawrence	Lawrence County	0	0.0%	0	\$0
Lewis	Lewis County	0	0.0%	0	\$0
Lincoln	Lincoln County	2	25.0%	10,000	\$3
Lincoln	Fayetteville	3	100.0%	103,000	\$75
Loudon	Loudon County	2	22.22%	956,600	\$207
Loudon	Lenoir City	0	0.0%	0	\$0

Table E-8. Technology Needs at Existing Public Schools (continued)Total Estimated Cost and Cost per Student by School System Five-year PeriodJuly 2017 through June 2022

	July 2017 inro	uzn Ju		hnology Needs	
County	Cabaal Contant	Existi	ng Schools	Estimated Cost	Per
	School System	Af	ffected		Student
McMinn	McMinn County	0	0.0%		\$0
McMinn	Athens	4	80.0%		\$451
McMinn	Etowah	1	100.0%	285,000	\$810
McNairy	McNairy County	7	77.78%	226,400	\$55
Macon	Macon County	0	0.0%	0	\$0
Madison	Madison County	22	100.0%	10,897,400	\$879
Marion	Marion County	4	40.0%	400,000	\$100
Marion	Richard City SSD	0	0.0%	0	\$0
Marshall	Marshall County	0	0.0%	0	\$0
Maury	Maury County	0	0.0%	0	\$0
Meigs	Meigs County	0	0.0%	0	\$0
Monroe	Monroe County	7	58.33%	5,085,000	\$952
Monroe	Sweetwater	2	50.0%	170,000	\$112
Montgomery	Montgomery County	39	100.0%	4,613,350	\$140
Moore	Moore County	2	100.0%	200,000	\$241
Morgan	Morgan County	7	87.5%	932,500	\$314
Obion	Obion County	0	0.0%	0	\$0
Obion	Union City	0	0.0%	0	\$0
Overton	Overton County	4	40.0%	364,000	\$121
Perry	Perry County	0	0.0%	0	\$0
Pickett	Pickett County	2	66.67%	170,000	\$246
Polk	Polk County	0	0.0%	0	\$0
Putnam	Putnam County	18	85.71%	415,000	\$38
Rhea	Rhea County	1	14.29%	134,000	\$32
Rhea	Dayton	0	0.0%	0	\$0
Roane	Roane County	16	94.12%	817,099	\$126
Robertson	Robertson County	20	100.0%	7,227,000	\$652
Rutherford	Rutherford County	0	0.0%	0	\$0
Rutherford	Murfreesboro	0	0.0%	0	\$0
Scott	Scott County	1	14.29%	35,000	\$13
Scott	Oneida SSD	0	0.0%	0	\$0
Sequatchie	Sequatchie County	3	75.0%	105,000	\$48
Sevier	Sevier County	0	0.0%	0	\$0
Shelby	Shelby County	113	62.09%	50,955,723	\$445
Shelby	Arlington	4	100.0%	750,000	\$147
Shelby	Bartlett	4	36.36%	660,000	\$76
Shelby	Collierville	8	100.0%	1,211,750	\$146
Shelby	Germantown	3	60.0%	300,000	\$51
Shelby	Lakeland	1	50.0%	84,000	\$89
Shelby	Millington	4	100.0%	1,770,000	\$696

Table E-8. Technology Needs at Existing Public Schools (continued)Total Estimated Cost and Cost per Student by School System Five-year PeriodJuly 2017 through June 2022

	-		Tec	hnology Needs	
County	School System		ig Schools fected	Estimated Cost	Per Student
Smith	Smith County	9	100.0%	\$ 1,175,000	\$393
Stewart	Stewart County	0	0.0%	0	\$0
Sullivan	Sullivan County	21	95.45%	1,546,000	\$160
Sullivan	Bristol	4	50.0%	302,500	\$76
Sullivan	Kingsport	12	85.71%	2,833,000	\$386
Sumner	Sumner County	2	4.17%	129,000	\$4
Tipton	Tipton County	14	100.0%	1,423,425	\$132
Trousdale	Hartsville-Trousdale	0	0.0%	0	\$0
Unicoi	Unicoi County	0	0.0%	0	\$0
Union	Union County	4	40.0%	255,362	\$70
Van Buren	Van Buren County	0	0.0%	0	\$0
Warren	Warren County	1	9.09%	150,000	\$23
Washington	Washington County	0	0.0%	0	\$0
Washington	Johnson City	0	0.0%	0	\$0
Wayne	Wayne County	6	66.67%	174,000	\$81
Weakley	Weakley County	11	100.0%	770,000	\$186
White	White County	0	0.0%	0	\$0
Williamson	Williamson County	26	59.09%	3,423,000	\$91
Williamson	Franklin SSD	0	0.0%	0	\$0
Wilson	Wilson County	0	0.0%	0	\$0
Wilson	Lebanon SSD	0	0.0%	0	\$0
Statewide		668	38.04%	\$ 125,380,212	\$130

Table E-8. Technology Needs at Existing Public Schools (continued)Total Estimated Cost and Cost per Student by School System Five-year PeriodJuly 2017 through June 2022

	Tot	Total Estimated Cost by Type of Mandate and School System <i>Five-year Period July 2017 through June 2022</i>	matter Configurate Computation Network matter and Sch mated Cost by Type of Mandate and Sch Five-year Period July 2017 through June 2022	by Type of Mandate and School July 2017 through June 2022	ool System		
			State Mandate Costs		Fe	Federal Mandate Costs	its
County	School System	EIA (Existing & New Schools	Fire Codes	Underground Storage Tanks	Asbestos	ADA	Lead
Anderson	Anderson County	\$ 0	\$ 0	\$ 0	\$	\$	\$ 0
Anderson	Clinton	0	0	0	0	0	0
Anderson	Oak Ridge	0	200,000	0	200,000	100,000	0
Bedford	Bedford County	0	0	0	0	0	0
Benton	Benton County	0	0	0	0	400,000	0
Bledsoe	Bledsoe County	0	0	0	0	0	0
Blount	Alcoa	0	0	0	0	0	0
Blount	Blount County	0	0	0	100,000	0	0
Blount	Maryville	0	0	0	0	0	0
Bradley	Bradley County	0	0	0	0	0	0
Bradley	Cleveland	720,000	0	0	0	0	0
Campbell	Campbell County	0	0	0	0	0	0
Cannon	Cannon County	0	0	0	0	0	0
Carroll	Carroll County	0	60,000	0	0	0	0
Carroll	Hollow Rock-Bruceton SSD	0	0	0	0	0	0
Carroll	Huntingdon SSD	0	0	0	0	0	0
Carroll	McKenzie SSD	0	0	0	0	0	0
Carroll	South Carroll SSD	0	0	0	0	0	0
Carroll	West Carroll SSD	0	0	0	0	0	0
Carter	Carter County	0	60,000	0	0	140,000	0
Carter	Elizabethton	0	0	0	0	0	0
Cheatham	Cheatham County	0	0	0	0	0	0
Chester	Chester County	0	0	0	0	0	0
Claiborne	Claiborne County	0	0	0	200,000	0	0
Clay	Clay County	0	0	0	50,000	0	0
Cocke	Cocke County	140,000	0	0	0	0	0
Cocke	Newport	0	0	0	0	0	0
Coffee	Coffee County	0	0	0	0	0	0

	T Tot:	Table E-9. Mandate Compliance Needs (continued)         Total Estimated Cost by Type of Mandate and School System         Five-year Period July 2017 through June 2022         State Mandate Costs	E-9. Mandate Compliance Needs ( <i>continued</i> ) mated Cost by Type of Mandate and School Syst <i>Five-year Period July 2017 through June 2022</i> State Mandate Costs	nce Needs ( <i>con</i> andate and Scho <i>rough June 2022</i>		Federal Mandate Costs	\$
County	School System	EIA (Existing & New Schools	Fire Codes	Underground Storage Tanks	Asbestos	ADA	Lead
Coffee	Manchester	\$ 0	\$ 0	\$ 0	\$ 0	\$ 0	\$ 0
Coffee	Tullahoma	0	0	0	0	0	0
Crockett	Alamo	0	0	0	0	0	0
Crockett	Bells	0	0	0	0	0	0
Crockett	Crockett County	0	0	0	0	0	0
Cumberland	Cumberland County	0	0	0	0	4,100,000	0
Davidson	Davidson County	0	0	0	0	3,907,200	0
Decatur	Decatur County	0	0	0	0	0	0
DeKalb	DeKalb County	0	0	0	0	0	0
Dickson	Dickson County	0	0	0	0	0	0
Dyer	Dyer County	0	0	0	0	0	0
Dyer	Dyersburg	0	1,000,000	0	0	0	0
Fayette	Fayette County	0	0	0	0	0	0
Fentress	Fentress County	300,000	0	0	0	0	0
Franklin	Franklin County	0	0	0	0	0	0
Gibson	Bradford SSD	0	0	0	0	0	0
Gibson	Gibson County SSD	0	0	0	0	0	0
Gibson	Humboldt	0	0	0	0	0	0
Gibson	Milan SSD	0	0	0	0	0	0
Gibson	Trenton SSD	0	0	0	0	0	0
Giles	Giles County	0	0	0	0	0	0
Grainger	Grainger County	0	0	0	0	0	0
Greene	Greene County	0	0	0	0	0	0
Greene	Greeneville	0	75,000	0	0	145,000	0
Grundy	Grundy County	0	0	0	0	0	0
Hamblen	Hamblen County	0	0	0	0	0	0
Hamilton	Hamilton County	0	0	0	0	0	0
Hancock	Hancock County	0	0	0	0	0	0

	T Tota	Table E-9. Mandate Compliance Needs (continued)Total Estimated Cost by Type of Mandate and School SystemFive-year Period July 2017 through June 2022	ndate Complial t by Type of M eriod July 2017 th	C-9. Mandate Compliance Needs ( <i>continued</i> ) nated Cost by Type of Mandate and School Syst <i>Five-year Period July 2017 through June 2022</i>	<i>tinued)</i> ool System		
		S	State Mandate Costs	S	Fe	Federal Mandate Costs	ts
County	School System	EIA (Existing & New Schools	Fire Codes	Underground Storage Tanks	Asbestos	ADA	Lead
Hardeman	Hardeman County	\$ 0	\$ 0	\$ 0	\$ 0	\$ 0	\$ 0
Hardin	Hardin County	0	0	0	0	0	0
Hawkins	Hawkins County	0	65,000	0	0	437,000	0
Hawkins	Rogersville	0	0	0	0	0	0
Haywood	Haywood County	0	0	0	0	0	0
Henderson	Henderson County	0	0	0	0	0	0
Henderson	Lexington	0	0	0	0	0	0
Henry	Henry County	0	0	0	0	0	0
Henry	Paris SSD	0	0	0	0	0	0
Hickman	Hickman County	0	0	0	0	0	0
Houston	Houston County	0	0	0	0	0	0
Humphreys	Humphreys County	0	0	0	0	0	0
Jackson	Jackson County	0	0	0	0	0	0
Jefferson	Jefferson County	0	0	0	0	0	0
Johnson	Johnson County	0	0	0	0	0	0
Knox	Knox County	0	0	0	301,675	865,800	0
Lake	Lake County	0	0	0	0	0	0
Lauderdale	Lauderdale County	0	340,000	0	1,000,000	107,500	0
Lawrence	Lawrence County	0	0	0	0	150,000	0
Lewis	Lewis County	0	0	0	0	0	0
Lincoln	Fayetteville	0	0	0	0	0	0
Lincoln	Lincoln County	0	0	0	0	0	0
Loudon	Lenoir City	0	0	0	0	0	0
Loudon	Loudon County	0	0	0	0	0	0
McMinn	Athens	600,000	0	0	0	167,000	0
McMinn	Etowah	0	0	0	0	0	0
McMinn	McMinn County	0	0	0	0	100,000	0
McNairy	McNairy County	3,000,000	0	0	0	0	0

### Building Tennessee's Tomorrow: Anticipating the State's Infrastructure Needs

Table E-9. Mandate Compliance Needs (continued)Total Estimated Cost by Type of Mandate and School SystemFive-vear Period July 2017 through June 2022
--

		1 maf-241 1	a tre-year a criwa yany zura ma uaga yane zuza Stata Mandata Casts	n uugu June 2022	ц	Federal Mandate Costs	te
		2					3
County	School System	EIA (Existing & New Schools	Fire Codes	Underground Storage Tanks	Asbestos	ADA	Lead
Macon	Macon County	\$ 0	\$ 0	\$ 0	\$ 60,000	\$ 0	\$ 0
Madison	Madison County	0	1,785,000	0	2,200,000	200,000	0
Marion	Marion County	0	0	0	0	0	0
Marion	Richard City SSD	0	0	0	0	0	0
Marshall	Marshall County	0	0	0	0	0	0
Maury	Maury County	0	195,000	0	0	0	0
Meigs	Meigs County	0	0	0	0	0	0
Monroe	Monroe County	0	0	0	0	0	0
Monroe	Sweetwater	0	0	0	0	0	0
Montgomery	Montgomery County	0	330,000	0	50,000	1,180,000	0
Moore	Moore County	0	0	0	0	100,000	0
Morgan	Morgan County	0	0	0	0	0	0
Obion	Obion County	0	0	0	0	0	0
Obion	Union City	0	0	0	55,000	0	0
Overton	Overton County	0	0	0	0	0	0
Perry	Perry County	0	0	0	0	0	0
Pickett	Pickett County	0	0	0	0	0	0
Polk	Polk County	0	0	0	0	0	0
Putnam	Putnam County	0	0	0	0	75,000	0
Rhea	Dayton	0	0	0	0	0	0
Rhea	Rhea County	0	0	0	0	0	0
Roane	Roane County	0	0	0	250,000	0	0
Robertson	Robertson County	0	0	0	1,700,000	200,000	0
Rutherford	Murfreesboro	0	0	0	0	0	0
Rutherford	Rutherford County	50,000	0	0	146,186	0	0
Scott	Oneida SSD	0	0	0	0	0	0
Scott	Scott County	0	0	0	0	0	0
Sequatchie	Sequatchie County	330,000	0	0	0	0	0
Y	л т	,					

Table E-9. Mandate Compliance Needs (continued)	Total Estimated Cost by Type of Mandate and School System	Five-vear Period July 2017 through June 2022
---	---	--

	1013	al Esumated Co Five-year l	mateu Cost by Lype of Mandate and Sch Five-year Period July 2017 through June 2022	I OLAL ESUMATED COSU BY LYPE OF PARTARE AND SCHOOL SYSTEM Five-year Period July 2017 through June 2022	marke no		
			State Mandate Costs	S	Fe	Federal Mandate Costs	S
County	School System	EIA (Existing & New Schools	Fire Codes	Underground Storage Tanks	Asbestos	ADA	Lead
Sevier	Sevier County	\$	\$	\$ 0	\$ 0	\$ 150,000	\$ 0
Shelby	Arlington	0	0	0	0	0	0
Shelby	Bartlett	0	0	0	200,000	1,150,000	0
Shelby	Collierville	0	0	0	0	0	0
Shelby	Germantown	0	450,000	0	0	2,800,000	0
Shelby	Lakeland	0	0	0	0	0	0
Shelby	Millington	0	0	0	0	750,000	0
Shelby	Shelby County	5,315,000	1,317,300	0	11,320,000	27,985,951	0
Smith	Smith County	0	0	0	0	0	0
Stewart	Stewart County	0	0	0	0	0	0
Sullivan	Bristol	0	1,300,000	0	0	1,050,000	0
Sullivan	Kingsport	0	0	0	0	225,000	0
Sullivan	Sullivan County	5,000,000	100,000	0	0	475,000	0
Sumner	Sumner County	0	0	0	0	90,000	0
Tipton	Tipton County	0	0	0	0	0	0
Trousdale	Hartsville-Trousdale	0	0	0	0	0	0
Unicoi	Unicoi County	0	0	0	0	0	0
Union	Union County	0	0	0	0	0	0
Van Buren	Van Buren County	0	0	0	0	0	0
Warren	Warren County	0	0	0	580,000	0	0
Washington	Johnson City	0	0	0	0	0	0
Washington	Washington County	0	0	0	0	0	0
Wayne	Wayne County	0	0	0	0	0	0
Weakley	Weakley County	0	0	0	0	0	0
White	White County	0	0	0	100,000	0	0
Williamson	Franklin SSD	0	0	0	0	0	0
Williamson	Williamson County	0	0	0	0	0	0
Wilson	Lebanon SSD	0	0	0	0	150,000	0
Wilson	Wilson County	0	0	0	1,925,000	200,000	0
Grand Total		<b>\$ 15,455,000 \$</b>	\$ 7,277,300 \$	s 0	\$ 20,437,861	\$ 47,400,451	\$ 0